National Testing Agency

Question Paper Name: 43 Rgjasthani 21st June 2019 Shiftl Set 2
Subject Name: 43 Rgjasthani
Creation Date; 2019-06-21 15:19:36
Duration: 180
Total Marks: 300
Display Marks: Yes
Share Answer Key With Delivery Yes
Engine:
Actual Answer Key: Yes
4= Fajasthani
Group Number : 1
Group Id : 646350196
Group Maximum Duration : 0
Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 300

PART [ General Aptitude

Section Id : 646350358

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 42

Number of Questionsto be attempted: 42

Section Marks: 100

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350723
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 64635015290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the two sets given below, Set-1 provides the different levels of learning according to

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets and
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (O (c)
(1) a) @ (iii)
(2) (1) (i1) (111)
(3) av) () @
(4) @y Q) @)
Options:

6453506003949, 1
64535060100, 2
E4E35080101. 3
EAE35060102. 4

@)
(11)
(111)
(v)

(d)

(iv)
@av)
(i)
(i)

Set-I1
(Examples)

Identifying examples of a given concept
Generating new ideas
Recalling information

Isolating information into parts

Question Number : 1 Question Id : 64635015290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535080099,

1
E4E35080100. 2
E4E35060101. 3
EAE3506010%2. 4

Question Number : 2 Question Id : 64635015291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions
(2) (Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:

64835060103, 1
4535080104, 2
4535060105, 5
64535060106, 4

Question Number : 2 Question Id : 64635015291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535060103, 1
64535060104, 2
64835080105 2
4535080106, 4

Question Number : 3 Question Id : 64635015292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Among the following which one1s an example of instructional software?

(1) Audio podcast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

64535060107, 1
64535060108, 2
64535060109, =
4835080110, 4

Question Number : 3 Question Id : 64635015292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535060107, 1
E4EZ50E0108. 2
E4EZ50E01089. 3



EAE35060110. 4

Question Number : 4 Question Id : 64635015293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, listening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) (General knowledge teaching aids (4) Theoretical based teaching aids
Options:

E4E35060111.1
E4E35060112. 2
64535060113, 3
64535060114, 4

Question Number : 4 Question Id : 64635015293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535060111, 1
64535060112, 2
E4E35060113. 3
EAE35060114. 4

Question Number : 5 Question Id : 64635015294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below identify the instructional events which form part of the structure
of a lesson plan. Select your answer from the options given below the list

List of instructional events :

(1) Gainming attention of students

(11) Prior knowledge of students

(i11) Informing the learner of the objectives

(1v)  Stimulating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1 @ ay )  av)
(2) @) @y vy )
(3) @ @@ W (vi)
4) @) ) @) @)
Options:

64535060115,
64535060116,
64835060117,
4535060118,

[ N

Question Number : 5 Question Id : 64635015294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635060115, 1
48350680116, 2
64535060117, 5
64535060118, 4

Question Number : 6 Question Id : 64635015295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure is

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:

64535060119, 1
64535060120 2
64835080121, 2
4535080122, 4

Question Number : 6 Question Id : 64635015295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535060119, 1
E4E35080120. 2
4535080121, 2
4535060122, 4

Question Number : 7 Question Id : 64635015296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64635060123, 1
64535060124, 2
64535060125, =
E4E35080126. 4

Question Number : 7 Question Id : 64635015296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535060123, 1
4835080124, 2
4535080125 2
64535060126, 4

Question Number : 8 Question Id : 64635015297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Plagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and malking use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535060127, 1
E4E35080128. 2
4535080129 2
64535060120, 4

Question Number : 8 Question Id : 64635015297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535060127, 1
64535060128, 2
64535060129 2
4835080120 4

Question Number : 9 Question Id : 64635015298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university teacher plans to study the effect of level of aspiration of students in terms of
their socio-economic background on their scholastic performance at the term end evaluation
conducted by an external testing agency. What 1s the dependent variable in this study?

(1) Level of agpiration of students (2) Socio-economic backeround of students
(3) Scholastic performance of students (4) Term end evaluation
Options:



E4E35060121. 1
64535060132, 2
64535060133, 3
64535060134, 4

Question Number : 9 Question Id : 64635015298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535060131, 1
E4E35060132. 2
EAE35060133. 3
EAE35060124. 4

Question Number : 10 Question Id : 64635015299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research report 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

64635060135, 1
64535060136, 2
64535060137, 2
4835080128 4

Question Number : 10 Question Id : 64635015299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35060135. 1
64535060136, 2
64535080137, 3
64535060128, 4

Sub-Section Number: 2
Sub-Section 1d: 646350724
Question Shuffling Allowed : Yes

Question Id : 64635015300 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

Unquestionably a literary life 18 for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inability to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyved up by the hope and the belief
that they have only to throw that poem at the world's feet to get back in return the laurel-
crown; that they have only to push as a new light 1in hiterature. You can never convince a
voung author that the editors of magazines and the publishers of books are a practical body
of men, who are by no means frantically anxious about placing the best literature before the
pubiec. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing your book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When you are a little older,
vou will find that criticism i1s not much more serious than the bye-play of clowns in a circus,
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather than
formidable, and goes his way unheeding. But there are sensitive souls that yield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635015301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Literary life 1s unhappy because

(1) One has to carry the load of being a gemus while not being one
(2) The geniug can still remain a genius and be amidst misery in the face of adversity
(3) Talent brings pseudo happiness

(4) There 1= a constant desire to outshine others

Options:



E4E35060139. 1
64535060140, 2
64535080141, 3
64535060142, 4

Question Number : 12 Question Id : 64635015302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
64635060143, 1
64635060144, 2
£4835080145. 3
64635060146, 4

Question Number : 13 Question Id : 64635015303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage 1s

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cynicism

Options:

4635060147, 1
64535060148, 2
64535060149 =
64535060150, 4

Question Number : 14 Question Id : 64635015304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Experience and age of an author

(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64635060151, 1
64535060152, 2
64535060153 =2
4835080154, 4

Question Number : 15 Question Id : 64635015305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The effective way of tackling criticism 1s

(1) To defend onesel f through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing i1ts merit

(4) To be gracefully glued to the artistic exercise

Options:

645350601551
64535060156, 2
64535060157, 5
64535060158, 4

Question Id : 64635015300 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635015301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635060139, 1
4535080140 2
64535060141, 5
64535060142 4

Question Number : 12 Question Id : 64635015302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535060143, 1
64535060144, 2
64535060145, 5
64535060146, 4

Question Number : 13 Question Id : 64635015303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535080147, 1
E4E35080145. 2
E4E35060143. 3
B4535060150. 4

Question Number : 14 Question Id : 64635015304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535060151, 1

E4E35060152. 2
EAE35060153. 3
EAE35060154. 4

Question Number : 15 Question Id : 64635015305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535060155 1

E4E3506015E6. 2
EAE35060157. 3
E4E35060158. 4

Sub-Section Number: 3
Sub-Section Id: 646350725
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635015306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following are barriers to effective communication?
(a) Physical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choosge the correct answer from the options given below

(1)  (a), (b) and (d)
@  (a), (b) and (¢)
3  (a), © and (d)
(4) (a) and (d) only

Options:

64535060159, 1
E4E35080160. 2
4535080161, 2
64535060162, 4

Question Number : 16 Question Id : 64635015306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635060159, 1
64535060160 2
64535060161, =
E4E35080162. 4

Question Number : 17 Question Id : 64635015307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Non-<content behaviours such as rate of speaking, loudness, tendency to interrupt and

pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

E4E35060163. 1
64535060164, 2
64535060165, 3
64535060166, 4

Question Number : 17 Question Id : 64635015307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35060163. 1
64535060164, 2
B4535060165. 3
64535060166, 4

Question Number : 18 Question Id : 64635015308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Ezxpanded communication
(3) Semantic noise (4) Partiapatory environment
Options:

E4E35060167. 1
EAE3506016E. 2
E4E35060169. 3
BAE35080170. 4

Question Number : 18 Question Id : 64635015308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35060167. 1
B4E35060168. 2
64535060169, 3
64535060170, 4

Question Number : 19 Question Id : 64635015309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

E4E35060171. 1
EAE35060172. 2
EAE35060173. 3
B4E35060174. 4

Question Number : 19 Question Id : 64635015309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35060171. 1
BAE35060172. 2
64535060173, 3
64535060174, 4

Question Number : 20 Question Id : 64635015310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Set-l Set-11
(Communication elements) (Description of process part)
(a) BSender (1) Brain
(b) Receiver (11) Electro-magnetic impulses
) Message (1m)  The central nervous system
(d) Medium 1v) Sensory organs

Choose the correct answer from the options given below

@ (b (©) (d)

(1) @ (i) (i1) av)
(2) ) @ av) ()
(3) av) @ (11) (i11)
(4) @ Gv @ Q)
Options:
64535060175,
48350680176,

EABEZS080177.
EAE35060175.

o LIRS

Question Number : 20 Question Id : 64635015310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¢ gHfeTa i

gz - 1 gz - 11
(T3YT F aed) (seRH- 9T 1 faaa)
() HIUTH @) afEass
(b) =AIEH (i) AeraesFg e
(c) ®@ew (i) PR S T
(dy W (v) HaE
A=t e g frew # & adt 3w 9w

1 @-@, b -0), -0, d-av
@  (@-@), b)) -0, ©-av), d - @)
@) @-av), (b -Q), ) - @), (d) - (u)
@  (@-), ®)-av), ©-an), d -0

Options:

64535060175, 1

64535060176, 2

4535080177, 3
EAE3506017E. 4

Question Number : 21 Question Id : 64635015311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL
(1) CMN
2 UJ
3  VIJ
4  IJT
Options:

64535080175, 1
64535060180, 2



EAE35060181. 3
BAE35060182. 4

Question Number : 21 Question Id : 64635015311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o fasen & faa wum 6 qfd Fifomg
TEF, UGH, , WKL
(1) CMN
@  UJI
3 VIJ
@ LJT
Options:

EAE35060173. 1
E4E35060180. 2
64535060181, 3
64535060182, 4

Question Number : 22 Question Id : 64635015312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always equal

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
E4de35080183. 1
4535060154, 2
64635060185 2
64635060156, 4

Question Number : 22 Question Id : 64635015312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fefafiaa § o fora auiTers aifisrdl om 8 fae o feem #1090 923 3 g 2

(1)  weHH

(2)  HEATFHAN
(3)  SEEEA
(4)  wIdE =H

Options:
4535060153 1

E4EZ50801854. 2
E4E35060185. 3
EAE350601586. 4

Question Number : 23 Question Id : 64635015313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 1s 25% greater than », what 1s the value of the

ratio>?

X

(1) 0.75 (2) 0.80
(3) 1.20 @ 125

Options:

64535060187,
4835060188,
4535080189,
4535060190,

o IR

Question Number : 23 Question Id : 64635015313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A x o y T T T § N xy T 25% At 2@ 2w oHE B
x

L 075 (2) 0.80
@ 120 @ 195
Options:

E4E35060187. 1
64535060188, 2
64535060159, 3
64535080130, 4



Question Number : 24 Question Id : 64635015314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

5% of the inhabitants of a village having died of malaria, a panice set in. During this, 20% of
the remaiming inhabitants left the village. The population is then reduced to 4750. Find the
number of original inhabitants

(1) 5000 2 5250
(3) 6250 (4) 7500
Options:

64535080191, 1
EAEZ5080132. 2
E4E350601393. 3
B4E5350601354. 4

Question Number : 24 Question Id : 64635015314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt i % 5% FanfiEi & AeifEr § 9 @9 % d1e QU W HAGAE g T 39h qRA 9 AETiEn 3 9
20% < M SEH FT Ol M e afmrasy ma fi AR gew 4750 @ T T F g
AftaniET f @ 2

(1) 5000 (2) 5250
(3) 6250 4 7500
Options:

645350601391, 1
64535080132, 2
E4E350801393. 3
EAE350601394. 4

Question Number : 25 Question Id : 64635015315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the simple interest on a certain sum for 1 year 3 months at 8}2—% per annum exceeds the

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the sum is

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) HKs. 8000
Options:

E4E350801395. 1
E4E350601396. 2
645350801357, 3
645350601395, 4

Question Number : 25 Question Id : 64635015315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gfe foreft g=rafsn @1 aramor sars 84%% dfdad fi 22 4 1 ad 3 AE H 3041 & gaul w 8 HER H 7%
yfqad 6t sl 2 & 45% & Al g sar &, a1 g8 s 2

(1) 600 %. (2) 800=.
(3) 6000, 4) 8000 .
Options:

645350801395, 1
E4E35060139E, 2
E4E350601397. 3
B4E535060135. 4

Question Number : 26 Question Id : 64635015316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ i1s taken to be True then which of the following
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 1s pencil (4) Some pens are pencils
Options:

64535060199, 1
64535080200, 2
E4E35060201. 3
EAE35060202. 4

Question Number : 26 Question Id : 64635015316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe aF aEg ol W e A8 2 F oo " formn Su at FAefafiaa 4 9 0 96 9 9 8@
Fﬁ'ﬁ’l%:

(1) ot o U 44 2 2 @ tFaa = )
@ R ol T AR A 2 @) % U i #
Options:

E4E35060199. 1
B4E35060200. 2
64535060201, 3
E4E3508020Z. 4

Question Number : 27 Question Id : 64635015317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 1s bulb

Select the correct answer from the options given below :

D (@, b)© (2) (a)and (d)
(3) () only 4 (D), () and (d)
Options:

64535060203, 1
E4535080204. 2
E4E35080205. 3
EAE35060206. 4

Question Number : 27 Question Id : 64635015317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A & e aey feu o #, ToAm =m feed gra fRe g e snan al & Fefofaa 8 S8 g
Ferd &9 w9 O wiH fou S Had 27

A A ;o () ot T oo F )
(i) sl gl A4 2|

Elea] 1 (a) UM ded A 21
by =ft == 9g 2
© U ¥od 21
(d) = i ZE e A 2
A o e Frwet § & wd s afe
(1) (@, b)), © 2 (a) ()
@) ¥ (a) @ ), ) R’ (d
Options:

64535060203, 1
64535060204, 2
64535060205, 3
EABEZS06020E6. 4



Question Number : 28 Question Id : 64635015318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
When subject and predicate of both the premises 1s same but they differ only in quantity, it

18 known as

(1) Subaltern

(2) Contraries

(3) Subcontraries
(4) Contradictories

Options:

4535060207, 1
64535060208, 2
64535060209, 2
4835080210, 4

Question Number : 28 Question Id : 64635015318 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl GHI ATaR Al < 32T AT faum gae 2, foeq 3t aen B 2 91 g9l TR &9 d ST St 2

(1) T

2  foufia g

@  3u-foula wg

(4)  femarar
Options:

64535060207, 1
64535080208, 2
EAE35060203. 3
BAEZ5060210. 4

Question Number : 29 Question Id : 64635015319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the reasoning in the following argument :

Writing on paper 1s similar to writing on the board’.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
E4E25080211. 1
Cc4C35060212 2
64635060213 2
64635060214 4

Question Number : 29 Question Id : 64635015319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiad 9% # 9 $i vgam e e 7 g N2 waEd & wgu g |

(1) P
(2) g A
(3) G AT

(4) HATTHATHS
Options:
64635060211, 1
64635060212, 2
4235060213, 2
64635060214 4

Question Number : 30 Question Id : 64635015320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All leaves are green’ is equivalent to which of the following propositions?

(a) No leaves are green
(b) No leaves are non-green
(c) No leaves are in other color than green

(d) No green is leaf

Select the correct answer from the options given below :

(1) (b), (c) and (d)
(2 (a) and (b)
(3) (b) only

@  (b)and ()
Options:
45350680215, 1
64535060216, 2
64535060217, 2
645350602158, 4

Question Number : 30 Question Id : 64635015320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a% ared | oadl afvn gftd 27 Refafia # 3 R ok e % oedged 2

(@ g il el 2l A 2

b)  FE o =i gfarfza A8 2

© @iz Wl uxht g % sy s a2
@ g ot g, ot A 2

5y o o, faerent 6 & T e A

O O, e W@
@ @O
@ ¥« (a)

@ (b R (o)

Options:
4535060215, 1

EAE350E021E. 2
EAE35060217. 3
EAE350602158. 4

Sub-Section Number: 4
Sub-Section Id: 646350726
Question Shuffling Allowed : Yes

Question Id : 64635015321 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension



Consider the following table that shows the total number of tickets sold of five movies P, Q,

R, S and T, across two cinema houses A and B on a particular day. In accordance with the
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 2300
Q 350 400
R 250 1510,
S 200 350
T 400 250

Sub questions

Question Number : 31 Question Id : 64635015322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T' at Cinema house A 1s what percent of the number of
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

E4E35060219. 1
BAE35060220. 2
64535060221, 3
4535050222, 4

Question Number : 32 Question Id : 64635015323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total number of tickets sold of movies @ and R together at both the Cinemas A

and B together?

(1) 1050
(2) 1200
(3) 1250
(4) 1350
Options:

EAE35060223. 1
BAE35060224. 2



EAE35060225. 3
BAEZS060226. 4

Question Number : 33 Question Id : 64635015324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the ratio of the number of tickets sold of movie P at Cinema B to the number of

tickets sold of movie @ at Cinema B?

(0 2:8
2) 314
B 1:2
(4) d:5
Options:
64535060227, 1
E4E35080228. 2
E4E35080229. 2
4535060220, 4

Question Number : 34 Question Id : 64635015325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the difference between the total number of tickets sold of all movies together at
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 (2) 170
(3) 150 (4) 160
Options:

64535060231, 1
64535060232, 2
E4E53508023E. 3
EAEZ5080224. 4

Question Number : 35 Question Id : 64635015326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together?

(1) 360 (2) 820
3 300 4) 840
Options:

E4E35080235. 1
EAE35060236. 2
EAE3S0E0237Y. 3
E4E35060235. 4



Question Id : 64635015321 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Fffiga arferer ot fa=m $ifse, S v f@em 7 w e - o i e - & d o= feedi-i ey,
An, v o1 & F BEwd fi o gen fi W auid 21 g9 aifde % aar wog@ e gl (vee g
31-35) % 3 difor:

formram feew-femal i sl
e ferraTeR
T Eil
ot 200 300
| 350 400
aw | 250 350
o 300 350
Gl 400 250

Sub questions

Question Number : 31 Question Id : 64635015322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frarEr-v @ fhen-& 6 owl f1 15 fewd 6 gem = yfdea FAaEr-v @ Gea-dt < &= o0
femral =i wwean 6t qoFT § foar an?

(1) 220 yidwd (2) 200 yfdvE
(3) 210 yiqwd 4) 190 yfes@
Options:

64535060219, 1
E4E35080220. 2
EAEZ5080221. 3
EABEZIS0E0222. 4

Question Number : 32 Question Id : 64635015323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aHl Frmmedi-u, S sfl %1 e & Fon-a9 i fhon-aar i fishl 1 78 fewel 1 e @ e 27

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

E4535060223. 1
E4E35080224. 2
EAEZ5080225. 3
EAEZIS0E0226. 4

Question Number : 33 Question Id : 64635015324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ot W feen-dt 6t fasht $t 78 el 6t g = wuE fRmmEe- v fFen-ay e Geft &
fesrdl 6 qaT | ferar 2:

R 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

EAE35060227. 1
BAE35060228. 2
BAE35060225. 3
64535060230, 4

Question Number : 34 Question Id : 64635015325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forre-v v g fyen w ot el i feht 6 13 el it wa den it Rearer-d o ga faen &
ot fecHi it fosht it 73 fewdl i v gen F e v feen 27

(1) 180 (@ 170
(3) 150 (4) 160
Options:

E4E35060221. 1
BAE35060232. 2
B4E35060233. 3



EAE35060234. 4

Question Number : 35 Question Id : 64635015326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forwre-sft ot fon-4t eiiv um $i e Ware skt $ 0 2w $1 sfoa gen feadf 22

1) 360 (2) 320
(3) 300 (4) 340
Options:

64535060235, 1
64535060236, 2
EABE3S0E0237Y. 3
EAE3506023E. 4

Sub-Section Number: 5
Sub-Section I1d: 646350727
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635015327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
| i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exemplifies
good teaching for all learners.

(1)  Ponly (2) Qonly
(3) Both P and Q (4) Neither P nor @
Options:

E4E35060239. 1
B4E35060240. 2
64535060241, 3
E4E3505024Z. 4

Question Number : 36 Question Id : 64635015327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrefafiaa 4 @ #a /w8 w9 g @ & % o d w12 2/77

P®) . A e uiEd 2, R aerd FeReE Ut st e (e vE giaer et
T 21
@ gurasi e § 2t sadR % fau 2 O & 1 avrdt soe ol SendiE F oo v a=s
ST %71 32E 2 |
1) % (P) (2 e Q)
@ (@) =@ aF 4) Fd @) HATd Q)
Options:
C4E25080229. 1
C4E25E080240. 2
cdEZE060241. 2
C4EZE0EQ242. 4

Question Number : 37 Question Id : 64635015328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 18 spyware 1in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowledge,
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computers of
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private computer
systems

(4) A computer program hidden within another seemingly harmless program that
produces copies of itself and inserts them into another programs or files

Options:

4535060243 1
64535060244, 2
64535060245 =
64535060246, 4

Question Number : 37 Question Id : 64635015328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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e &l 2 |
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Options:
64635080243,
64635060244,
64635060245.
64635080246.

o IR

Question Number : 38 Question Id : 64635015329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes a wiki?

(1) A system that allows users to add information onto a website but does not change
any pre-existing information

(2) A system that allows collaborative modification of 1its content and structure directly
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual
(4) A system that monitors the modification of content within a blog

Options:

4350602471

C4EZE0EQ24E8. 2

EAE35060249. 3
EAE35060250. 4

Question Number : 38 Question Id : 64635015329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFefafaa 5 9 =9 fadh (Wiki) =1 399 e 2ar 2:

(1) & yonell, St ITERTRAlA] 1 Uh JaEEe 9 gl Sied adt 2, <ifee g | e e ot gemn
= fafda w3 81 &t |

(2) Ok qolel, S Gead ©9 3 e Ao A A% [Avaa o TRV IR araie B erat ot 2
(3) U 9UIel, S A & 8 A v safdana e & w1 1@ e wdt 2
4) U wunelt, St U sArT F oia Areied & FIRE S 2

Options:



EAE35060247. 1
64535060248, 2
64535060245, 3
64535080250, 4

Question Number : 39 Question Id : 64635015330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acronym
VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
64535060251, 1
64535060252, 2
435060253, 2
64535050254, 4

Question Number : 39 Question Id : 64635015330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wetel! 1 s SAeng TreE=dl WH i F fore dun fR e v atveds 3uer U § 3w
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Options:

64535060251, 1
4835080252 2
4535080252 2
4535060254, 4

Question Number : 40 Question Id : 64635015331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the decimal equivalent of binary number 11001107

1 102
@ 204
3 153
@ 5l
Options:

64535080255, 1
EAEZ5060256. 2
EAE35060257. 3
BAE35060258. 4

Question Number : 40 Question Id : 64635015331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-=rha 1100110 =1 T9geH G¥HeTd FHT 27

1 102
@ 204
@ 153
@ 51
Options:

64535080255, 1
EAEZ5060256. 2
EAE35060257. 3
BAE35060258. 4

Question Number : 41 Question Id : 64635015332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which are the examples of potential kinetic energy? Select your answer from the options
given below :

1) Water that 1s beluind a dam

(11) Radio signals

(i11)  An airplane idling on the runway
av) A satellite before it 1s launched
() A colled spring

(vi)  Heat harnessed from the oceans
Options :

(1) @, ), av) and (V)
(2) @, @), (1) and (v1)
(3) (@), Gum), Gv) and (v)

(4) (@), @v), (v) and (v)

Options:

64535060259,
64535060260,
4835060261,
4535060262,

o P

Question Number : 41 Question Id : 64635015332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Q) @, i), (v) # @)
@ ), @), (i) #N (Vi)
(3 G, (i), (v) I )
@ QD) (v), v) 3 (Vi)

Options:

64535060259, 1
E4E350802E80. 2
64535060261, o
4535060262, 4

Question Number : 42 Question Id : 64635015333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Statement I : The Millennium Development Goals were adopted in the United Nations in
the year 2010

Statement II : Developing a global partnership for development was one of the Millennium
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I

(2) Only IT

(3) Both I and II
(4) Neither I nor IT

Options:
64635060263, 1
E4E35080264. 2



EAE35060265. 3
EAEZS06026E6. 4
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Correct Marks: 2 WrongMarks: 0
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E4E350602E63. 1

EAEZ5060264. 2
EAE35060265. 3
EAEZS06026E6. 4

Question Number : 43 Question Id : 64635015334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference on

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
EAEZE0802687. 1
4025060268, 2
64635060269, 2
64635060270, 4

Question Number : 43 Question Id : 64635015334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535060267, 1
64535060268, 2
E4E350802E69. 2
E4E35080270. 4

Question Number : 44 Question Id : 64635015335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(c) Sunlight

() Carbon monoxide

Choose the correct answer from the code given below :

1) (&, b)), ©
@ (b)) @D
@ @ 0 @
@ (@), b) @

Options:

64635060271, 1
E4E3S080272. 2
4535060272, 5
4535060274, 4

Question Number : 44 Question Id : 64635015335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535060271, 1
E4E35080272. 2
E4E350802732. 2
4535060274, 4

Question Number : 45 Question Id : 64635015336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Avalanches
(3) Invasive species (4) Diseases
Options:

64535060275, 1
EABEZS0E027E. 2
EAGRZIS0E0277. 3
EAE35060278. 4

Question Number : 45 Question Id : 64635015336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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EAGRZIS0E0277. 3
BAE35060278. 4

Question Number : 46 Question Id : 64635015337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GIAN (Global Imitiative of Academic Networks) has been launched by Government of India
1n order to

(1) Encourage Indian Scholars to learn abroad
(2) Discourage Indian Scholars from researching in India
(3) Encourage global scholars engage with their counter parts in India

(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

4535060279, 1
64535060280, 2
64535060281, 2
4835080282, 4

Question Number : 46 Question Id : 64635015337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E350602749. 1
64535060280, 2
64535060281, o
64535060282, 4

Question Number : 47 Question Id : 64635015338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education System
in India?

(1) Learming from books (2) Learning from the teacher
(3) Learning from thinlking (4) Learning through instructional material
Options:

E4E350602E83. 1



EAE35060284. 2
EAE35060285. 3
BAE35060286. 4

Question Number : 47 Question Id : 64635015338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
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E4535080282. 1
EAEZE080284. 2
EAE35060285. 3
BAEZS060286. 4

Question Number : 48 Question Id : 64635015339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has e1ven special emphasis on “Education
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

E4535060287. 1
64535060288, 2
EAE3S0E0289. 3
EAE35060230. 4

Question Number : 48 Question Id : 64635015339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BAE35060287. 1
BAE35060288. 2
645350602549, 3
E4535080230. 4



Question Number : 49 Question Id : 64635015340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Brain drain problem which was dominant in the muddle of 20t Century in India 1s indicative
of which one of the following aspects?

1)  Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means of
the developing nations

(111) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only (1) and (111)
(2) Only (i) and (iii)
(3) Only (ii1)

(4) Only (1) and (1)

Options:

4635060291, 1
4535060292, 2
64535060293 =
64535060294, 4

Question Number : 49 Question Id : 64635015340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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645350602391, 1
E4E35080232. 2
EAEZ50802393. 3
EAE350602394. 4



Question Number : 50 Question Id : 64635015341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The premier organisation established 1n India to deal with capacity bullding and research in
planning and management of education in India and South Asia is

(1) ATU (2) SAARC University
(3) NUEPA (4) Nalanda Unmversity
Options:

64535060235, 1
EAE3506023E, 2
EAE35060237. 3
EAE350602395. 4

Question Number : 50 Question Id : 64635015341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535060235, 1
64535060236, 2
E4E35080237. 3
EAEZ5080235. 4
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Correct Marks: 2 WrongMarks: 0
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E4E35060203. 1
64535060204, 2
64535060205, 3
64535060306, 4
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64535060203, 1
64535060204, 2
64535060305, 2
48350803206, 4
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Correct Marks: 2 Wrong Marks: 0
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64535060207, 1
64535060208, 2
64535060209, 2
4835080210 4
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Correct Marks: 2 Wrong Marks: 0
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E4E35080215. 1
EAE350602320. 2
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645350602331, 1
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48350603247, 1
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(1) @
(2) T8
() T
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Options:

EAE350602359. 1
EAE35060260. 2
E4E350602361. 3
64535060362, 4

Question Number : 66 Question Id : 64635015357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘O A SEE
T H UG8t S, g9 A g BEd |
— 307 Fied Alfesar § fort @ea 2 2 2
(1) &
(2) @
() T
(4] =T
Options:

64535060359, 1
EAE35060360. 2
EAE35060261. 3
EAEZS0E0Z362. 4

Question Number : 67 Question Id : 64635015358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘gedis Tl weEred & yaW W R 2 2
(1) HAH%

(2) U=
(3) form
(4) N

Options:

64535060363, 1
64535060364, 2
64535060365, o
E4E35080366. 4

Question Number : 67 Question Id : 64635015358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gedrrst T warEed U yaW | e 2 2
(1) HAHF

(2) U
(3) o
(4)

Options:

4835060363, 1
64535060264, 2
64535060365, o
64535060366, 4

Question Number : 68 Question Id : 64635015359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘TIAT-HRE TR 1 ey 2
(1) T&-T&RY
(9) SRTEHL — TR g
(3) Mg —T@r g

(4) WW—WQ

Options:

4835060367, 1
E4E3508026E. 2
64535060369, o
64535060370, 4



Question Number : 68 Question Id : 64635015359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘BIAT-HES AT 1 ey 2
(1) TS —TRY
(2) SATH — TR G
(3) Mg —Fmr g

(4) WW—WFL

Options:

64535060367, 1
64535060368, 2
48350803269 2
64535060270, 4

Question Number : 69 Question Id : 64635015360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ucls, HAlY, Alhed, eI — ge1E Teig, fohu “Torar-formor 4 s e ?
(1) FaFarE B fotm

(g) ar G e
(3) Tidard fran fadmon
(4) SiComHaTl fF fose

Options:

64535060371, 1
E4E3S080372. 2
64535060273, 5
4535060374, 4

Question Number : 69 Question Id : 64635015360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ucls, AL, Alhed, AN — 31G aig, fora “Tora-feraor 4 svg a2
(1) ®aFaErEl Br fatm
(g) e forn fommm
(3) Widar=i o fammon
(4) SitomHaT fFa famem

Options:
45350603711

EAE350E0372. 2



EAE350602373. 3
BAE350602374. 4

Question Number : 70 Question Id : 64635015361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TererEE AR T ATesh @ vinde 2
(1) WA Hi

(9) Titen qrEng
(3) <9 T
(4) %ﬂiifﬁ?ﬁﬁ

Options:
E4E35060375. 1

EABE3S0E037E. 2
EAEZIS0E0377. 3
EAE350602378. 4

Question Number : 70 Question Id : 64635015361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tereiz AR % A1z A < 2
(1) WA
(g) Wit ARETS
(4) Fa o

Options:

4835060375, 1
E4E3E08027E. 2
4535060377, o
4535060378, 4

Question Number : 71 Question Id : 64635015362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘FirEge-Yard Fed L FAFE O faug 2
(1) e
(2) UHFEATHITH
(3) UfETa
(4) <iiF®

Options:



EAE350602373. 1
B4E35060280. 2
64535060281, 3
64535060382, 4

Question Number : 71 Question Id : 64635015362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Flrgee-gad wed L FUHS A faw 2
(1) i
(2) YA
(3) Ufderi
(4) i

Options:

64535060379, 1
64535060380, 2
64535060381, 2
48350803282 4

Question Number : 72 Question Id : 64635015363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

STt 99 T Al T ° et AT et 2 2
(1) GH STt g T TR
(2) @wEu yF & Hiqgum
(8) EEHUH HWodl 1 EHATEH
(4) wem & afeirhl TE

Options:

48350603283, 1
45350602584, 2
64535060385, o
645350603586, 4

Question Number : 72 Question Id : 64635015363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



STt 99 U A e J et A S 2 2
(1) H&=H S qiHan & TRt
(2) @wEu yF & dagum
(8) EEATH Hoell {1 FHATEH
(4) STweE i arferl TaE

Options:

4535060283, 1
645350602384, 2
64535060385, =
64535060386, 4

Question Number : 73 Question Id : 64635015364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

WTd Fld se™ T & O A9 8
(1) SRS Tl
(2) TEie™ arEs
(3) WNES ARG
(4) FOIGH

Options:

646350602387, 1
64535060388, 2
645350602389, 2
4835080290 4

Question Number : 73 Question Id : 64635015364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

WTd Fd se™ t & O A 5t
(1) «RES aFal
(2) "ElieH arEs
(3) WTES AR
(4) FOIGH

Options:

645350602387, 1
64535060388, 2
4835080289 2
4535080290, 4



Question Number : 74 Question Id : 64635015365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
w2l g2 Udie & 30 et & I3 AW B, Sl G Uk FAEE 1 ' H & 2
(1) deHr

(2) i
(3) =
(4) g
Options:

6453508023591, 1
64535060332, 2
64535080332, 3
EAE35080354. 4

Question Number : 74 Question Id : 64635015365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HETeRl g2t Ui & 37 et & I3 AW B, Al ga U FARE 1 'Y H S 2
(1) w"gwt

(2) i
(3) =mwE
(4) g
Options

E4E350602391. 1
EAE35060392. 2
645350803383, 3
64535060334, 4

Question Number : 75 Question Id : 64635015366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘SATAsEAT SHEA { gerg R A g 2 ?
(1) Fa

(2) T
(8) Sramard
(4) wam

Options:
64535060295, 1
64535060296, 2



EAE35060397. 3
E4E350602335. 4

Question Number : 75 Question Id : 64635015366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

"SATA-SEAT SEFT Ty [T 2o 9 2 2
(1) T
(2) Ta
(8) Sr@mErdy
(4) #Hard
Options:

645350803395, 1
EAEZ50803396. 2
EAE350602397. 3
E4E350602335. 4

Question Number : 76 Question Id : 64635015367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘S| o =g @, 41 &9 &1 99 |
g ferard foror =g o, WGl w0 a0

— 3u1 g1 # foFor 88 U SR AaEIE 2 ?
(1) Foefe
(B I
(3) %
(4)

Options:

64635060399, 1
4835080400, 2
4535060401, 5
64535060402, 4

Question Number : 76 Question Id : 64635015367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S s =iue o, g &g 81 ue |
=g fepera {5101 =g o, WGl w1 a0

— 3V ggl ¥ fu1 ¥ U S AaEE § ?
(1) Foefean
(2 =
(3) g
(4) FHIA

Options:

64535060299, 1
64535060400, 2
64535060401, 2
4835080402, 4

Question Number : 77 Question Id : 64635015368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘g8l S =gE o, Wl w9 |
AT A FiAT =, e A= Foue 1)

— v g2 | forw ag 1 @am fedrer g 2
(1) 0
(9) FH
(8) o
(4)

Options:

64535060403, 1
64535060404, 2
4835080405, 2
4535060406, 4

Question Number : 77 Question Id : 64635015368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)
(2)
(3)
(4)

Options:

64535080403,
64535080404,
E4EZ5080405,
EAE35060406,

Question

‘g8l S =g, fgd W eg |
1 A0 HeAn o7, fines wE weTw |
— 3 g2 # fopur @7 1 @ forer @ 2

Hedul
FHTA

Fierd
Fraro

Number

o LIRS

: 78 Question Id : 64635015369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

TS 99 T Ha gfEest § 9 aseyA | feor fen dig 2 2

(1) S, HIEmsT
() I, AFR

(3) Fgus, dieme
(4) WM, AW

Options:

64535060407, 1
E4E35060408. 2
E4E35060403. 3
EAE35060410. 4

Question Number : 78 Question Id : 64635015369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THEAE 99 T Ha giEmEe § g aseym | o feo dig 2 2

(1) TR, HieEET
() o, AFR

(3) Taues, sl
(4) WM, AW

Options:

64535080407, 1
E4E350604058. 2
E4E35060409. 3



EAE35060410. 4

Question Number : 79 Question Id : 64635015370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A= fester AR | e O die o fedt #a adl 2 2
(1) ®rhieH, FEliem anEs, Hien
(g) AT, AU fosm, waEd
(8) G AT, WG GHATSA, YU
(4) Tlaﬂiﬂﬁ, QFREIH, fier zafeEn

Options:
64525060411, 1

EAE35060412. 2
EAE35060413. 3
EAE35060414. 4

Question Number : 79 Question Id : 64635015370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A1 fester AT | wersd 1 die o fedt 0 adl 2 2
(1) wieH, FEliem anEs, dat
(9) AT, AU fosm, waEd
(3) BLH1 A, WEEH gaarigan, A
(4) naﬂalé, éﬂ'{zlﬂ, fieer zafern

Options:
4535060411, 1

EAEZ5060412. 2
E4E35060413. 3
GAE35060414. 4

Question Number : 80 Question Id : 64635015371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘GEm A1 UF TR g9 qeneE g A 2 ?
(1) ST

Options:
64635060415, 1



EAE35060416. 2
BAE35060417. 3
64535060415, 4

Question Number : 80 Question Id : 64635015371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘g’ e w9 foRor 9a aoeE g aefeg 2 ?
(9) foeig
(3) Few

(4) TES Iy

Options:

64535060415, 1
64535060416, 2
64535060417, 5
64535060415, 4

Question Number : 81 Question Id : 64635015372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feror s & arell | w Rl @ Soora wey Ot g4t 2 2

(1) HHHcC
(2) WH
(8) HAFFEAEH
(4) TIFH
Options:

64535060419, 1
E4535080420. 2
E4EZ5080421. 3
EAEZ5060422, 4

Question Number : 81 Question Id : 64635015372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feror sarerd & dielt # w ferfs @ seore wag At g 2 2

(1) HHH<

(2) WEHH

(8) AFea9A

(4) TIFF

Options:

64535060419, 1
64535060420 2
4835080421, 2
64535060422, 4

Question Number : 82 Question Id : 64635015373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘ol di% 28 || — G foer § n Ffaar A P e gu fiz ?
(1) T AEe Aid 9393
(2) AFTEEH

(3) sfiuaga wdl
(4) W& THE

Options:

64535060423, 1
4835080424, 2
64535060425, 5
64535060426, 4

Question Number : 82 Question Id : 64635015373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘ol di% 28 || — G o § w wiaan A e aa 2 ?
(1) 7 FEd =i 9393
(2) A=A

(3) sfucqa udl

(4) W TmE
Options:
64535080423 1
E4E25080424 2
E4E25060425 =
64535060426 4



Question Number : 83 Question Id : 64635015374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3 Foreft wheat i o Pt el e =g 6 A 3 2

(1) ¥ TH

(2) erd i
(3) ST W
(4) U1 SAFH

Options:

E4535080427. 1
EAE35060425. 2
EAE35060423. 3
BAE35060430. 4

Question Number : 83 Question Id : 64635015374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3 Foreft wheat i o Pt el et =g & A 3 2

(1) ¥ TH

(2) erd i
(3) ST W
(4) U1 SAFH

Options:

E4535080427. 1
EAEZ5080425. 2
EAE35060423. 3
BAE35060430. 4

Question Number : 84 Question Id : 64635015375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘ST SFTF 1S S[2 | Ads o 4 =gl 32 |
Hled TErvl, o 9= | A & gt s 10
— 3t qEafean feor @ = ma ?
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Options:



E4E35060431. 1
BAE35060432. 2
64535060433, 3
64535060434, 4

Question Number : 84 Question Id : 64635015375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ST SR S S[2 | AAUs ' H "I 32 |
Hied qamult, Som 9= | A 4 9 @ )
— 2 gqaafean oo g e a2

(1) =A@t faEw |l

(2) & Woar ST

(3) @ Uz A wwfi| 2adi |

(4) TaTRT | THA AT 9T

Options:

64535060431, 1
64535060432, 2
48350804232 2
4535080424 4

Question Number : 85 Question Id : 64635015376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fereardl uiftrn & | fordt dielt #en — siea g gy A 0@ ?
(1) TEHE 9 TR
(2) T Frmel
(3) VT 9TTEA &9
(4) TS ®e Tfar 4

Options:

64535060435, 1
64535060436, 2
64535060437, 2
4835080428, 4

Question Number : 85 Question Id : 64635015376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fi1 foreidl aiftan | o fordt gt e — ses g o ff 1 2
(1) THH 59 FhIE
(2) e e
(8) VT WP &
(4) Ty e Tfar @

Options:

64535060435, 1
64535060436, 2
4835080427, 2
64535060425, 4

Question Number : 86 Question Id : 64635015377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘geat | FiE fiAa,
FT Tk TN || — & e efesan fpor #fa & 2 2
(1) ToEfiare am ‘IEdre’
(2) FHEH Ay
(3) g
(4) TadgH |mo

Options:

64635060439, 1
64535060440, 2
64535060441, =
4835080442 4

Question Number : 86 Question Id : 64635015377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘geat | e fiAa,
T U FHE || — 3 e Afesar o sl &2 2
(1) ToEfiere sam@ ‘IEdre’
(2) FAEH A3
(3) =g
(4) TEdgH =T

Options:
4535060439, 1



E4E35060440. 2
B4E35060441. 3
GAE3506044%, 4

Question Number : 87 Question Id : 64635015378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A fordl wiiemn | g fet qiefl Fite usgtiga 4 4i 2 ?
(1) el

(2) TR

(3) HHHS

(4) WS = A
Options:

E4E35080443. 1
E4E35060444. 2
64535060445, 3
64535060445, 4

Question Number : 87 Question Id : 64635015378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A fordl wiiemn | g fet qiefl Fite usgtiga 4 4i 2 ?
(1) el

(2) TR

(3) HHHS

(4) WS = A
Options:

E4E35080443. 1
E4E35060444. 2
64535060445, 3
64535060445, 4

Question Number : 88 Question Id : 64635015379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Yoo A0 W, 99 Wi || — wfaEr wiier f 30 Fweg-2st § A ges
o 2y 2

(1) <
(2) @l

(3) =1
(4) =sl

Options:

4635060447, 1
64535060448, 2
64535060449 =
64535060450, 4

Question Number : 88 Question Id : 64635015379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Yoz 10l W, e wien || — wigar woieH § 3o wea-sidl 4 e’ gez
q 23y 2
(1) @
(2) drE

(3) =4I

(4} Hl2l
Options:
64535060447, 1
64535060448, 2
4835080449 =2
4535060450, 4

Question Number : 89 Question Id : 64635015380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i forendl wea-sifesan fopor =fa ©1 2 2
WA S =g FifeR w1, g oawd S g |
A =it @ A 23, @ A Aidiam g 1’

(1) wiehigHE
(2) @A et
(8) i =ATer
(4) [ HS

Options:



E4E35060451. 1
BAE35060452. 2
64535060453, 3
64535060454, 4

Question Number : 89 Question Id : 64635015380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
firr foridl wFrea-adifes fro e 6§ 2 2
W S0 =g ETR Jd, g A = g@d |
F A =i @ A 24, & O =idia@ g 10

(1) g
(2) TS el
(3) AT TR
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Options:

E4E35060451. 1
BAE35060452. 2
64535060453, 3
64535050454, 4

Question Number : 90 Question Id : 64635015381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A fereardt wfaar sdiear 0 g 67 fawen & st awcgm arn f 41 g 2
(1) 2 SIEvi, A A48 A Hoea Vo
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(2) &g, w1, Tz § femh we
quiEt Tt fohan, astadt e 1)
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Options:

64635060455, 1
4835080456, 2
64535060457, 5
64535060458, 4

Question Number : 90 Question Id : 64635015381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:

4535060455,
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Question Number : 91 Question Id : 64635015382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
H= ma@ ° 21 F99 S 2 | P U 9 (Assertion) (A) ST gt
(Reason) (R) 2 | A= f2aer famew o g wd famrew goit —
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g ol & st FFT GeRa w2 |
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(4) (A)esa (R) @&l

Options:
4535060459, 1

EAE35060460. 2
BAE350604E61. 3
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Question Number : 91 Question Id : 64635015382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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% (Reason) (R) : FYE HEHM H fwan #H @ S guER e
92 |
Hﬁﬁlﬁr‘]@ﬁ
(1) (A) =&l (R) Tesa
(2) (A) @& (R) @&t

(3) (A T=a (R) mesd
(4) (A)mea (R) @&t

Options:

64535060459, 1
64535060460, 2
4835080461, 2
45350804682, 4

Question Number : 92 Question Id : 64635015383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= waTe | 21 wed fGFie 2 | 3 et 9 (Assertion) (A) ¥R S @
(Reason) (R) 2 | A feder fawew § g o fomrew oit -
GgAT (Assertion) (A) : HHAFCH TEYHT SH Aiges H |mEn &
dle § TSRAHT i TSl ® 9o sqa A
a3 |
7% (Reason) (R) : agF S mgan { 4@ g i § aHE ®9
4 drat-tadt & |
el fasmea oIt
(1) (A)7a (R) 9dt
(20 (A) @l (R) T

(8) (A) T (R) Tesd
(4 A) @ (R) @

Options:

4535060453 1
64535060464, 2
64535060465 o
64535060466, 4



Question Number : 92 Question Id : 64635015383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
2 marer # <1 wo e 2 | 3on ¥eft oo (Assertion) (A) @ gl A%
(Reason) (R) 2 | #= feder fawew § g w2 foarew ot —

g7 (Assertion) (A): HEAFCH TEIHT SH Afges H |mEn &
48 4 UsRuEl R el # gut e A
e |
7% (Reason) (R) : g A WA O faRr g a1 H 9HH &9
o adt-tadt & |
gt fashew goit ;
(1) (A 7a (R) a2t
(2) (A) =& (R) mea

(8) (A) e (R) Ted
(4) (A) == (R) &2

Options:
E4E25080483. 1

EAE35060464. 2
EAE350604E65. 3
BAE35060466. 4

Question Number : 93 Question Id : 64635015384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

f= wame T 31 o A 2 | 39 AR A (Assertion) (A) S St 9%
(Reason) (R) z | = feren famrear 6 g w#t fawew gon —

g1 (Assertion) (A):  ‘gef-sEr S @ fid H wd & e
faft A s =g e am )
7% (Reason) (R) : FF ST LS 9T Fes qfedn |
gl faehea ot

(1) (A)7ed (R) &l
(2) (A) =& (R) meza
(3) (A) 7 (R) Td
(4) (A) = R) &

Options:
4535060467, 1
64535060468, 2



EAE35060463. 3
BAE35060470. 4

Question Number : 93 Question Id : 64635015384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
f= wamer 1 31 Haa ST B | 39T A A (Assertion) (A) SR gt 9%
(Reason) (R) z | = fearer famremr 6 g w&t fasmey soi —

grr (Assertion) (A): ‘gril-saw S @ ia |7 wd & Tt
faft A s "ier Fe am )’
7% (Reason) (R) : FLF AT T I GOT Fed qiegAn |
gl faehea ot

(1) (A)7ea (R) w8
(2) (A) @@ (R) T
(3) (A) 7 (R) Ted
(4) (A) @@ (R) 7&

Options:

4535060457, 1
64535060468, 2
64535060469 =
64535060470, 4

Question Number : 94 Question Id : 64635015385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=t mare H g e feIier 2 | 3o delt A (Assertion) (A) @ g ab
(Reason) (R) 2 | A= fadrer famrew & g wdt fasea goit —

11 (Assertion) (A): ‘zuigrl § o ot g gal e |
7% (Reason) (R) : FF AN qET 9 T = |
ag fammeg ot
(1) (A) =z (R)wa
(9) (A)T=d (R) TTesd

(3) (A) @& (R) Tea
(4) (A) 7= (R) @8l

Options:

64535060471, 1
64535060472, 2
E4E350804732. 2



EAE35060474. 4

Question Number : 94 Question Id : 64635015385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= mate H 4 e fIie 2 | 39 dell 4T (Assertion) (A) e gt ab
(Reason) (R) 2 | #i= fadrgr fmew d 4 adt faseq goit —
gr1 (Assertion) (A): ‘zuard 4 ot oY et it e e |
% (Reason) (R) : Y SN W WO Fon T
gl fameq oIt
(1) (A) @& (R) @
(9) (A) 7z (R) Tesa

(3) (A) @&t (R) Tza
(4) (A) 7 (R) @&l

Options:

64535060471, 1
4535060472 2
64535060473 =
64535060474 4

Question Number : 95 Question Id : 64635015386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=t wata | 31 e fGEe 2 | 39 det 9T (Assertion) (A) @R g @
(Reason) (R) 2 | = feder fawew & g @@ fepew goit -
grgd7 (Assertion) (A) 1 = TSt faEd d : ‘T SR 39 iq%zri
cll
7% (Reason) (R) : “ 30T HEAT A T A |
F’é‘tﬁﬁq ﬂuﬁ =
(1) (A) ==t (R) Tz
(2) (A)7ea (R) @
(8) (A) T (R) Ted

@) (A) = R) 7

Options:

64535060475, 1
E4E35080476. 2
64535060477, 5
64535060478, 4



Question Number : 95 Question Id : 64635015386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= war@ 1 31 HeF fGFret 2 | 39 de 9 (Assertion) (A) S g q%
(Reason) (R) 2 | #i= feaer fawem & g @@ ferew goit -
grga7 (Assertion) (A) 1 = Lo eqrad i ‘U SR 392 @%:ﬁ
clk
7% (Reason) (R) : ‘3u1 Hgal A @ A |
agl farehew ot -
(1) (A) @@t (R) ez
(2) (A)7ed (R) &
(8) (A) T (R) Ted

(4) (A) @@l (R) wel

Options:

4635060475, 1
64535060476, 2
64535060477, =
64535060475, 4

Question Number : 96 Question Id : 64635015387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fi=t warer # < wu e 2 | i 9@ e (Assertion) (A) @€ gt %
(Reason) (R) 2 | 2 fedrer famweui # o wdt freew goit -

TAT (Assertion) (A):  ‘mwdia Sfavrgean o® ‘gdvarg gie:’ 8
3z a2 TEs ° 4 gladl e
e

7% (Reason) (R) : ‘e ¥ W =aiE fiFa dew, @ aEn
3t g |
w1 forehea goit :
(1) (A) @@ (R) @&
(2) (A) @ R) e
(3) (A)7e=d (R) &t
(4) (A) 7ea (R) Taa

Options:
64835060479, 1



EAE35060450. 2
B4E350604581. 3
BAE3506045%. 4

Question Number : 96 Question Id : 64635015387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fi=t e # < wu e 2 | o d@ Ao (Assertion) (A) @ gt %
(Reason) (R) 2 | 2 fedrer famewi # o udt e goit -

9T (Assertion) (A):  ‘awdia Sfavigedn o® ‘gdvarg gig: §
S AMEl e gae H FH gigdl e
el
7% (Reason) (R) : ‘e ¥ W =raiE fiFa dew, @ aEn
3t &g |
gt faemeq ot
(1) (A &2l (R) w2
(2) (A) @@ (R) T
(3) (A)7=d (R) =2t
(4) (A) T4 (R) Tad

Options:

64635060473, 1
4535080420, 2
645350604581, 5
64535060482, 4

Question Number : 97 Question Id : 64635015388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= mare § g1 %o fEEre 2 | 30T det 91 (Assertion) (A) R gt adh
(Reason) (R) 3 | = fedier fampewt # g = faspew 9ot —

gr9ar (Assertion) (A): A% SEd § gA@El U S0 2 3
AR foaE Y auE O A% @ 2, R
&t o Gk 2 F Areran @ § quelt g,
forelt gt fom & s 2

7% (Reason) (R) : S ATeHh c@T g Ted ted ST ant
AL FHH F |

agl fashea ot
(1) (A) @& (R) @&l
(2) (A) =& (R) Tz
(3) (A) ma (R) ol
(4) (A) 724 (R) T4

Options:

64535060483, 1
64535060454, 2
64535060485 =
4835080456, 4

Question Number : 97 Question Id : 64635015388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 waTa H 21 %UF A 2 | 39 9eft A9 (Assertion) (A) S g @
(Reason) (R) 2 | 2 fegien forpeni ® o udt farreq ot -

gryar (Assertion) (A): A% Sigd § gA@El U A0 2
A g Y auE 4 A% @ 2, R
F S wF 2 F Areeman 3§ quof 2,
Rt ot o 4 s 2 |

7% (Reason) (R) : A AeH 2@ e Ted tEd =an
AL FHH F |

agl famea ot
(1) (A)@d (R) @
(2) (A) =t (R) meza
(3) (A)Ta (R) wdl
(4) (A) 724 (R) Te2d

Options:



EAE35060453. 1
64535060454, 2
645350604585, 3
64535060456, 4

Question Number : 98 Question Id : 64635015389 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fr= warer § 41w fFe 2 | T Ge oo (Assertion) (A) ¥ g @
(Reason) (R) 2 | i féamer fEeem # g @ ey o —

947 (Assertion) (A): TH&ES AMY ATdEHHT AT FFEqor T gy
SR adr JH |
% (Reason) (R) : Ui’ HFe BRE e =S THesslt A
3 |
agl faehow ot -
(1) (A) =&l (R) Teq
(2) (A) @z (R) @2
(8) (A) 74 (R) Texd

(4) (A) 7 (R) @t

Options:

4535060457, 1
45350604588, 2
64535060489, o
64535060430, 4

Question Number : 98 Question Id : 64635015389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



H2 mae # 2 wu R 2 | on 3 a1 (Assertion) (A) ¥ g A%
(Reason) (R) 2 | = feder fawew d g o faepew goit -

9977 (Assertion) (A): THeESl AMY ATdGHHT AT TETor T qyop
ArFeddr AH |
@% (Reason) (R) : VS A FAE SHe A THeES! A
T |
agl farehea ot -
(1) (A) @& (R) Teq
(2) (A) =& (R) w2
(8) (A)mea (R) mea

(4) (A)7=d (R) 7d

Options:

64635060487, 1
64535060488, 2
64535060459 =
E4E35080490. 4

Question Number : 99 Question Id : 64635015390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A=t wara # 3 %ae 3 2 1 3o et 9 (Assertion) (A) @ gSht @
(Reason) (R) 2 | 1= Baer e # g @ fawe goit -

G197 (Assertion) (A): UcA® BT weqfa g oswurl Srws
& gre-are 7oy |
% (Reason) (R) : 2 B w1 Haur . Oeifamy T gar oy

TaRes Y 3R raEIv quman | TR g
g1 g Tt arareror Fator d gems fug <2 |

wE farsmea goit
(1) (A) Tezd (R) e
(2) (A) @& (R) Tad
(8) (A) @@ (R)@dl
(4) (A)7=a (R) @&

Options:

64635060491, 1
64535060492, 2
64535060493 =
E4E35080494 4



Question Number : 99 Question Id : 64635015390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= " 0 @ s T 2 Imﬁﬂﬁﬁmiﬁsseﬂiﬂn)(ﬁ)maﬁfﬁ
(Reason) (R) 2 | A=t fdrr feew & g @ fawes goit —

G797 (Assertion) (A): U=eA® I f weqfa g oot Semwe
& Fre-are a9 |
@# (Reason) (R) : 2 B w1 FHau g, OeffamT T gar oy

Tad $Y 2R graradv] qUnan ¥ TR g
2| g Ut arararor Fafo d ogees fug <@ |

agl faemea oIt :
(1) (A) 74 (R) Terd

(9) (A) =& (R) meza
(8) (A) @t (R) @&l
(4) (A) T (R) #&

Options:

64535060491, 1
E4E35080492. 2
4535080492 2
64535060494, 4

Question Number : 100 Question Id : 64635015391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9wt H 21 w9 IS 2 | 39 delt 9 (Assertion) (A) S g @
(Reason) (R) 2 | = fearer fomrew 0 g @ fasrew goit —

g7 (Assertion) (A): ‘s A digiai Gz 2 |

a# (Reason) (R) : %1 fomr fafean @ wdl ugsan, 57 9 Afired
FIOET T AQ-TaT AR 4T 7 FAS0E 3 FI3
D ars |
gl faremea ot -

(1) (A) @@t (R) =&l
(2) (A)Td (R) &t
() (A) ma (R) mad
(4) (A) @@ (R) ez

Options:
4535060495, 1



EAE35060436. 2
BAE35060437. 3
64535060435, 4

Question Number : 100 Question 1d : 64635015391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= ware # 3 wuF e 2 | on det Ot (Assertion) (A) 3R g A
(Reason) (R) 2 | #i= fearer fomrew 0 g @l faweq ol —
qrr (Assertion) (A): ‘I afim dar et == 2
7% (Reason) (R) : %1 ot fafean & Wl ugsan, 59 9 Afired
FIUET U AQI-9d] AR 2 A FAS0L A FI3
D Aare |
gl faekey ot
(1) (A) @@t (R) =2l
(2) (A)7ea (R) @
(8) (A) e (R) med

(4) (A) =l (R) wexaq

Options:

64535060495, 1
4835080496, 2
4535080497 2
64535060498, 4

Sub-Section Number: 2
Sub-Section 1d: 646350729
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 64635015392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘e’ meg § 3f 9=a O /A =W 30T HA 4 91 A1l & T A AvIE ;
o= 1 T 11
(a) féres forofi e @ Am A #faar () oo e

fdeft dam2
(b) férre g wam W 2 | (i) zrsmTE St
(c) St wfaar i ¥ f23 sz vl (iil) 32w 39

a fames |
(d) fimres wrar gl = fenes (iv) 2eredt

JET0] JIOT TS HIHT |

(v) geuTeH S

A& I oIl ¢

(1) f(a)=(i), (b}=(i), (e)~(v), (d)-(iii)
(9) (@), (b)-(iii), (e)ii), (d)~v)
(3) (a)=(v), (b)=(i), (c)-(iii), (d)~ii)
(4) @~Gii), b)~v), (e)=(), (d)—iv)

Options:

64535060499, 1
64535060500, 2
64535060501, =
4835080502, 4

Question Number : 101 Question Id : 64635015392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘e’ meg § 3f 9=a O /A =W 30T HA 4 91 A1l & T A AvIE ;
o= 1 T 11
(a) féres forofi e @ Am A #faar () oo e

fdeft dam2
(b) férre g wam W 2 | (i) zrsmTE St
(c) St wfaar i ¥ f23 sz vl (iil) 32w 39

a fames |
(d) fimres wrar gl = fenes (iv) 2eredt

JET0] JIOT TS HIHT |

(v) geuTeH S

A& I oIl ¢

(1) f(a)=(i), (b}=(i), (e)~(v), (d)-(iii)
(9) (@), (b)-(iii), (e)ii), (d)~v)
(3) (a)=(v), (b)=(i), (c)-(iii), (d)~ii)
(4) @~Gii), b)~v), (e)=(), (d)—iv)

Options:

64535060499, 1
64535060500, 2
64535060501, =
4835080502, 4

Question Number : 102 Question Id : 64635015393 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A1 fetegigr 99 =1 9y uvEr O O e s |
gt | geh 11

(a) =Y (i) Tdem
(b) areigrdt (ii) il 2t
(c) =g 9y (iii) zfiem
(d) 12z 94 (iv) eter

(v) arerfd
HEl 3T @ﬁ :

(1) (a)=(ii), (b)iv), (e)=(), (d)ii)
(9) (a)=(), (b)), (c)~(v), (d)iii)
(3) (a)-(v), (b)iii), (e)—(ii), (d)—(v)
(1) (@=), (b)), (e)(ii), (d)~ii)

Options:

64835060503, 1
4535080504, 2
64535060505, o
64535060506, 4

Question Number : 102 Question Id : 64635015393 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

{1 foragien o9 =1 oy wver T H@ S FonEt |
gt 1 =i 11

(a) T (i) waem
(b) Sreterdt (i) Sfhsft 2
(c) g 9u (iii) zfem
(d) 12z 9 (iv) aeter

(v) e
ﬁa'ﬁl‘!@ﬁ:

(1) (a)-(ii), (b)iv), (e)—(i), (d)ii)
(2) (a)=(i), (b)=(ii), (e)~(v), (d)-(iii)
(3) (a)=(iv), (b)iil), (e)—(ii), (d)~(v)
(4) (a)-(v), (b)=(i), (e)-(ii), (d)(ii)

Options:
C4C25060503. 1



EAE35060504. 2
64535060505, 3
E4535060506. 4

Question Number : 103 Question 1d : 64635015394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A forsaidt wrmEn o 3vi faamar T am & w@E et JomEt |
T = 11

(a) fies-fEmmton (i) EFY =979 99H
(b) gm-aTEH (ii) =fiT =red

(c) BaH-g=4 (iii) emafors-ny
(d) 43 9t F A4 FAvEL (iv) fifa =rea

(v) Sl?gﬁlﬂil‘ﬂ
H‘@Z‘-‘Tﬂ?ﬁ:

(1) (a)=(ii), (b)iv), (c)-(i), (d)-G)
(2) (a)-(i), (b)-(iii), (e)—(iv), (d)—v)
(3) (a)—iv), (b)i), (c)~v), (d)-(iii)
(4) (@)—D), (b)), (c)=(iii), (d)~iv)

Options:

64535060507, 1
4535080508, 2
4535060509, 5
64535060510, 4

Question Number : 103 Question Id : 64635015394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A1 foreAigl A <) IvR) faman T A O 9g A e |

= T 11
(a) Tirres-fEmmton (i) =g =F7g 99+
(b) Zm-aTaH (ii) W e
(c) BaM-go| (iii) merfim-arer
(d) 73 GTeT Ff T4 FAvEL (iv) Hifa ==

(v) W e
H'@?-"tﬂ?ﬁ:

(1 (a)iii), (b)Hiv), (e)-(ii), (d)—(i)
(2) (@), (b)=(iii), ()={v), (d)~v)
(3) (a)-(iv), (b)-i), (e)~v), (d)(iii)
(4) (a)=(), (b)=ii), (e)~(iii), (d)Hiv)

Options:

64535060507, 1
64535060508, 2
64535060509 =
64535060510, 4

Question Number : 104 Question 1d : 64635015395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A foreaiel Fidan X ait =ARN T am 1 Sigl FeE |

o= 1 =i 11
(a) T3 SEH U @3 (i) @ie™ arEs
(b) = =g U gg (i) =1@l slreL
(c) THET I THH (iii) sfrg g
(d) drmrEo (iv) TeeemT 2men
(V) SERGH AT
H’&&Wgﬂﬁ:

(1) (@-), (b)=(ii), (e)(ii), (d)—(i)
(9) (a)=(i), (b)-(iii), (c)-(), (d)~iv)
(3) (a)iii), (b)i), (e)iv), (d)ii)
(4) (@—0), (b)—iv), (e)Hv), (d)-(iii)

Options:



E4E35060511. 1
BAE35060512. 2
64535060513, 3
64535060514, 4

Question Number : 104 Question Id : 64635015395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A<l fereaidl Siaan s ait =HTR L AW U Sl el |
T 1 = 11

(a) T3 Sl U B¢ (1) "Efem arzs

(b) wa =wtidE T gl (i) @l = ey

(c) THET STH T (iii) sfrg g

(d) drmrEo (iv) TeeemT amen
(v) SRGH HHT

H‘&&Wﬂjﬁ:

(1) (a)=v), (b)=(ii), (e)iii), (d)~i)
(9) (a)=(i), (b)=(iii), (c)=(), (d)—iv)
(3) (a)=(iii), (b)), (e)iv), (d)ii)
(4 (@-G), (b)—(iv), (c)<v), (d)—(iii)

Options:

64535060511, 1
64535060512 2
45350805132 2
64535060514, 4

Question Number : 105 Question Id : 64635015396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



9 fererdl oo 9t 2 ant genes @ gl fweE |
gt 1 = 11

(a) =A9T= (i) T fFaE
(b) gl TeiEaH (i) wd v
(c) Fim (iii) mag e
(d) g (iv) ga@ea 1d

(v) Tt gz
HE 3T oI :

(1) @-G), (b)=(ii), (e)-(iii), (d)~{iv)
(9) (a)=(Gi), (b)=(v), (a)iv), (d)~i)

(3) (@)—v), (b)iii), (e)—(ii), (d)~(v)
(4) (a)iii), (b)~iv), (o)), (d)ii)

Options:

64835060515, 1
E4E35080516. 2
64535060517, 5
64535060518, 4

Question Number : 105 Question Id : 64635015396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e forendl rowurt aferEn = art aenee 4 St fAeEt |
g 1 = 11

(a) =t (i) vweaey fFEm
(b) €t TreEUH (ii) ¥Tq A
(c) FIm (iii) maq =aer
(d) gurg (iv) gaaa 1a

(v) it gz
H’&;}Wﬁﬂﬁ:

(1) (a)=(), (b)-(ii), (e)~(iii), (d)—iv)
(2) (a)=(ii), (b)~(v), (e)Hiv), (d)~i)

(3) (@—v), (b)iii), (c)—(ii), (d)—(v)
(4) (a)ii), (b)iv), (e)-1), (d)ii)

Options:
4635060515, 1



EAE35060516. 2
B4E35060517. 3
645350605158, 4

Question Number : 106 Question 1d : 64635015397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A= fereaie w=rArrr o ) Fiean & S e |
Cell = 11

(a) fevamrg wifaa (i) S Siean fas
(b) grediat saH (i) =t & gres
(e) FEEH Ml (iii) T Sofes
(d) =arw w2 (iv) ST — ==t

(v) wrecht da %
el I @Uﬁ :
(1 (a)=), (b)=(ii), (c)=(iii), (d)~{iv)

(2) (@)=(ii), (b)), (e)ii), (A~v)
(3) (a)—(iv), (b)iii), (e)—(1), (d)~ii)
(4) (a)—(v), (b)~(iv), (c)iii), (d)(i)

Options:

64535060519, 1
64535060520 2
64535060521, 2
4535080522, 4

Question Number : 106 Question Id : 64635015397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A=l foreaie ARl o1 A Hiaan O A e |

Tl 1 =it 11
(a) Torarrg wifea (i) S Sfar fem
(b) Hefiat sam (i) =t § 2
(c) SgIa™ e (iii) BTeH JS
(d) =iarmg gz (iv) ST — ==irT

(v) arselt 9 s T
g I ﬂUﬁ :
(1) (@), (b)), (e)iii), (d)~iv)

(9 (a)—(ii), (b)), ()ii), (d)~v)
(3) (a)-(v), (b)(iii), (e)=(i), (d)—(ii)
(4) (a)=(v), (b)~iv), (e)iii), (d)~i)

Options:

64535060519, 1
E4E35080520. 2
64535060521, 5
64535060522, 4

Question Number : 107 Question Id : 64635015398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A forendl ‘era-swd’ @t e O 92 et fiEE |

et 1 el
(a) =gl STl (i) @it 9t wall a3 Fo-wdd
(b) o wivarer @i (i) e Wl
(c) BAIEL AT T (iii) =z 92 e
(d) FviieH sEs (iv) frprs nel
(v) HURl ard smaeh
E I ot :

(1)@=, (b)ii), (c)~(ii), (D))
(9) (a)=(iv), (b)~v), (c)i), (d)-(ii)
(3) (a)=(ii), (b)), (e)—(iv), (d)(iii)
(4) (@-), (b)), ()<v), (d)~iv)

Options:
4635060523, 1



EAE35060524. 2
BAE35060525. 3
BAE35060526. 4

Question Number : 107 Question 1d : 64635015398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A Rreidl ‘grasara’ & wanal O wd Wi fsw |
el 1 et 11

(a) =refiiE feerTe (i) ot o aaft a8 Fo-wah
(b) U1 AT T (i) =g gaoh
(¢) AR &A1 TME (iii) =ie aT fFE
(d) #=iigH srEa (iv) forrs anel
(v) gURl 18 seedt

el I T*-jlﬁ :
(1) @~w), (b)), (e)~(il), (D)D)

(2) (@—iv), (b)~v), (e)~i), (d)(ii)
(8) (a)ii), (b)~(i), (e)—iv), (d)iii)
(4) (@-), (b)—iii), (e)~v), (d)~{iv)

Options:

64535060523, 1
64535060524, 2
64535060525 2
E4E35080526. 4

Question Number : 108 Question Id : 64635015399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A freaidl =T S AR O A8 St Sorat |
gt 1 geft 11

CVRICR (i) midE deh
(b) i Te=iteit (i) ArrEmiiE W
(c) TR (iii) TeFfire
(d) SF FE% qa (iv) THva aa

(v) wdamera dfen
e I ?A_I,Uﬁ £

(1) (@=v), (b)=(iv), (e){ii), (d)—(ii)
(9) (@-G), (b)=(i), (e)~(iii), (d)~iv)
(8) (a)iii), (b)-{v), (e)i), (d)ii)
(4) (a)=iv), (b)iii), (e)=(ii), (d)—(i)

Options:

64535060527, 1
4835080528, 2
4535080529 2
64535060520, 4

Question Number : 108 Question Id : 64635015399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e foreaidl =1 S AR O T8 S St |
gt 1 geft 11

(a) gl Tl (i) wmfrE Hich
(b) dies g=Atef (i) Ao wrd
(c) T (iii) gaRTE
(d) SH A= ydq™ (iv) THYeR 2ar

(v) w=gamera Hfe
HE I E_]'Uﬁ #

(1) (a)—v), (b)~(iv), (e)ii), (d)iii)
(9) (a)=(i), (b)(ii), (e)—(iii), (d)~iv)
(8) (a)iii), (b)-{v), (e)i), (d)ii)
(4) (@)—iv), (b)iii), (e)—(ii), (d)—(i)

Options:
46350605271



EAE3506052E. 2
BAE35060525. 3
B4E535060530. 4

Question Number : 109 Question 1d : 64635015400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A feraiter garan e 3uit s O w8 4 FaE |
T | T 11

(a) @iz =Aunau] (i) FIa-Tel
(b) ®@ie (ii) forgur v & Faavh
(¢) @re Gav (iii) o< faeoh
(d) |z grevit (iv) THHTOT TE0T FHI0R
(v) & Faraoh

“_tﬁ'ﬁl'{wﬁ:
(1) (a)=Gi), (b)), (c)~(iv), (d)iii)

(2) (a)-(), (b)), (e)-(iii), (d)~iv)
(3) (a)-(ii), (b)Hv), (e)ii), (d)-i)
(4) (a)=(iv), (b)1ii), (¢)—(1), (d)~Hv)

Options:

4635060531, 1
64535060532, 2
64535060533 2
64535060534, 4

Question Number : 109 Question 1d : 64635015400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A fereater ggran @ 3o s O |98 de A |
Tt 1 T 11

(a) @iz Al (i) =d-wel
(b) iz (i) feraor o/ qer et
(c) @i guu (iii) @19 fooh
(d) @iz @revi (iv) THHTOT TE0T FA0R
(v) 9« aqmEoi
H@Wgﬂﬁ:
(1) (a)ii), (b)=(1), (e)—(iv), (d)-(iii)

(9) (a)=(i), (b)—(ii), (c)=(iii), (d)—iv)
(3) (a)-ii), (b)Hv), (e)ii), (d)i)
(4) (a)-(v), (b)iii), (¢)-@), (d)—(v)

Options:

64535060531, 1
E4E35080532. 2
4535080523 2
64535060524, 4

Question Number : 110 Question Id : 64635015401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Al feregTEl TewdHT Tag il A1 AR REEA T T2 A8 Hara! |
et 1 el 11

(a) fETes®m (i) edieA @

(b) HAFIFHATST (ii) Hianm a2g

(c) BHRGH HiaT (iii) e aifem

(d) usrearrl d=g HiM (iv) = quiigH
(v) IEATH AFES

el I ﬂUﬁ 3

(1) (a)=(iv), (b)ii), (e)iii), (d)—(i)
() (a)—(v), (b)=iii), (e)~(v), (d)ii)
(8) (a)=(iv), (b)«v), (e)i), (d)—(ii)
(4) (a)=(1), (b)(iii), (c)ii), (d)~v)

Options:
64835060535, 1



EAE35060536. 2
BAE35060537. 3
E4E535060538. 4

Question Number : 110 Question 1d : 64635015401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
i) fereAigl TSR] T9g FiE $) a0 FRAER T 92 gl b |
o | T 11

(a) fema=m (i) adiEA wL

(b) HAIAHHIST (i) dramm g

(c) zHREH HIes (iii) =Hfarrsn aThigM

(d) Tt H61g w1 (iv) wfesn quiigm
(v) 35a0H ATES

HE T Pou
(1) (a)=(iv), (b)ii), (e)iii), (d)—(i)
(g) (a)=(v), (b)-(iii), (e)<v), (d)—ii)
(3) (a)—=(iv), (b)), (e)i), (d)—(ii)
(4) (a)-(), (b)=(iii), (i), (d)~v)

Options:

4635060535, 1
64535060536, 2
64535060537, 2
64535060538, 4

Question Number : 111 Question 1d : 64635015402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A fereidl wfaa-sifear s aft SRar 3 ¥ = |
e 1 e 11

(a) &3 AVRRa didg, g AW A w1 (1) Fragm o
afexal T agR, Wi ant q9igd 1)
(b) ®g & YA, UFS AT FH | (i) F9E™
o wagl 92 @2, M ded fwm ||
(c) @raT Tilg e, fod gan feg @ | Gii) =0 oig
gl far wig, dE e A |
(d) TH WY HOT T WOT, A AW WOE | (iv) G A
foor g T\ T =, @1 9| g S8 ||
(v) #met grel
H‘@Wﬂjfﬁ:
(1) (a)—), (b)=(ii), (c)-(iii), (d)~(iv)
(9) (a)iii), (b)Hi), (e)Hiv), (d)~v)
(3) (a)=(iv), (b)«v), (e){i), (d)-(iii)
(4) (a)=(v), (b)=(i), (e)=(iv), (d)—(ii)

Options:

4535060559, 1
64535060540, 2
64535060541, 5
64535060542, 4

Question Number : 111 Question 1d : 64635015402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A fereidl wfaa-sifear s aft SRar 3 ¥ = |
e 1 e 11

(a) &3 AVRRa didg, g AW A w1 (1) Fragm o
afexal T agR, Wi ant q9igd 1)
(b) ®g & YA, UFS AT FH | (i) F9E™
o wagl 92 @2, M ded fwm ||
(c) @raT Tilg e, fod gan feg @ | Gii) =0 oig
gl far wig, dE e A |
(d) TH WY HOT T WOT, A AW WOE | (iv) G A
foor g T\ T =, @1 9| g S8 ||
(v) #met grel
H‘@Wﬂjfﬁ:
(1) (a)—), (b)=(ii), (c)-(iii), (d)~(iv)
(9) (a)iii), (b)Hi), (e)Hiv), (d)~v)
(3) (a)=(iv), (b)«v), (e){i), (d)-(iii)
(4) (a)=(v), (b)=(i), (e)=(iv), (d)—(ii)

Options:

4535060559, 1
64535060540, 2
64535060541, 5
64535060542, 4

Question Number : 112 Question 1d : 64635015403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Al faeaiEl fedr-ifeaan @® ait wiemt U 48 gl waEt |
gt 1 g 11

(a) 4T AU Md FEE | (i) 2. ofien [t
FaAl WAl M J9ET ||

(b) aax e s 2 1, foafdm fofm amf (ii) TeaweRrsr STEh
ATTUAT § H M 6, A= aqfgar aefi )

(c) mrom o Hagy 4 fe, wagl g shrdier ug | (i) seearena A
®Y ST Oag § FHWg, gl 9@ A A |
(d) it wem 4 2 o=, 9@ g9 qft gt | (iv) g 2iRs
e 9o ST R 2, T B G ||
(v) T aH
HEN TR ot :
(1) (@—Gv), (b)=(), (i), (d)iii)
(9) (a)-(v), (b)-(ii), (e)iv), (d)—i)
(3) (@-0), (b)), (), (d)~ii)

(4) (a)=(ii), (b)~v), (o)(ii), (d)iv)

Options:

E4E350680543. 1
64535060544, 2
64535060545 o
64535060546, 4

Question Number : 112 Question Id : 64635015403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Al foreaigl wfaar-2Aifean =7 ait *legt U g el et |
gt 1 g 11

(a) 4T AU Md FEE | (i) 2. ofien [t
Fa-A1 WIAl M J9EST ||

(b) aax e s 2 1, foafdm fofm amf (ii) TeaweRrsr STEh
ATTUAT § H M 6, A= aqfgar aefi )

(c) mrom o Hagy 4 fe, wagl g shrdier ug | (i) seearena A
Y Y Teg 4 Fug, degl A A e ||
(d) it wem 4 2 o=, 9@ g9 qft gt | (iv) g 2iRs
e 9o ST R 2, T B G ||
(v) T aH
HEN TR ot :
(1) (@—Gv), (b)=(), (i), (d)iii)
(9) (a)-(v), (b)-(ii), (e)iv), (d)—i)
(3) (@-0), (b)), (), (d)~ii)

(4) (a)=(ii), (b)~v), (o)(ii), (d)iv)

Options:
4535060543 1

E4E35060544. 2
EAE35060545. 3
GAE3506054E. 4

Sub-Section Number: 3
Sub-Section Id: 646350730
Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 64635015404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A Tl iften | g fordt aiel ewaerelt @1 w4 2 2
(1) ¥Eds
(2) HAWA TGS
(8) M I
(4) witell TS

Options:



EAE35060547. 1
64535060548, 2
64535060545, 3
64535060550, 4

Question Number : 113 Question Id : 64635015404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Al fereATgl ariemn | g frel Tl sRasel a1 qas i 2 ?

(1) NGB
(9) AW T HLS
(3) g B

(4) wifedl TeaH

Options:

4835060547, 1
E4E35080548. 2
64535060549, o
4535060550 4

Question Number : 114 Question Id : 64635015405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘ot STgY, e STgl, el ANl S |
SN AT SAATEel, A A oS w7 |
— & wfaan @ =Afean fHor =, o g
Fa g =i & 29w & @ e 2 -

(1) et — gt Heg W

(2) &l HEg — W Tre

(3) W — gl Heg URe

(4) 9T — W @1 g

Options:

64635060551, 1
64535060552, 2
64535060553 =
4835080554 4

Question Number : 114 Question 1d : 64635015405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘O STEY, eI B, SISl =l S |
gl A AATZE], AT A gl wF |
— o wfaan @ =Afean fHor =, o g
Fa are Foft & 2 9w & od A9 2 -
(1) Fedis — STgt e H
(2) El HEg — M are
(8) W — TEl Heg T
(4) TEANN — oW @1 9

Options:

4635060551,
4535060552,
64535060553,
64535060554,

o LI

Question Number : 115 Question 1d : 64635015406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ut &4 ez wft, i wE o |
ZIrdt sren v, =i fe=n, FeE
— F forATEl Fed-Alfesan W fet sawr 2 ?
(1) WiAHH
(9) =AW &fd
(3) T
(4) AT
Options:

64535060555, 1
64535060556, 2
64535080557, 3
EAEZ506055E. 4

Question Number : 115 Question Id : 64635015406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘ufest &4t Bz wft, goif weei @ |

A1 Brel g, =R B, FEg

— W foRAE! Fed-Alfesdn | forlt Aawr 2 ?
(1) WifdwH

(9) <A ¥id
(3) a9
(4) Al

Options:

64535060555, 1
64535060556, 2
64535060557, =
64535060558, 4

Question Number : 116 Question 1d : 64635015407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

F T T FEEHET g9 TofsE adt s 99 9 e 9 1
vi& H g% Fist & ?
(1:, =L IERA |

(9) Ugd®

(3) "Mt
(1)

Options:
4535060559 1

EAEZ5060560. 2
EAE35060561. 3
BAE35060562. 4

Question Number : 116 Question Id : 64635015407 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FF SUIEY T FEEHT 909 Fofie el gEer SS9 gresnar 9rd 1R
ST H o i & ?
(1:, s

(o) Uga®

(3) “HIX
(4) ¥S

Options:



E4E35060559. 1
EAE35060560. 2
E4E35060561. 3
64535060562, 4

Question Number : 117 Question Id : 64635015408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Srgmardl’ O SEal weEeET A eEEdat M fEd @ 2 gt T gIEat - SRarae

(1) & — s
(2] el — S
(3) Wl |z
(4) ¥
Options:

EAE35060563. 1
EAE35060564. 2
B4E535060565. 3
64535060566, 4

Question Number : 117 Question Id : 64635015408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

"SrETErd O SPEE gt A eEEdt i R 2 2 Ot S oxgar - SRardarer

(1) & — s
(2] WL —e
(3) Wl Az
(4) W
Options:

E4EZ5060563. 1
EAE35060564. 2
E4535060565. 3
E4535060566. 4

Question Number : 118 Question 1d : 64635015409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘ol & e’ foor wETRr @, fedt faen § e feo oo § = 2 ?
(1) Yeeiatsam, FaH, Ui
(2) SAGH AREl, I, AT
(3) FaE WA, ATEH, B 44
(4) TR fosrraniia, Fe, feek

Options:

4535060567, 1
64535060568, 2
64535060569, 2
E4E35080570. 4

Question Number : 118 Question 1d : 64635015409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Fa1 &t e’ foeor AR @, Fedt faen § s e oo § w2 ?
(1) i, FeHl, tderias
(9) GAIGH AR, U=, HTHITSS
(3) FaIEI YW, ATEH, B 4y
(4) TS fosentta, P, FEee

Options:

4835060567, 1
4535060568, 2
64535060569, o
64535060570, 4

Question Number : 119 Question Id : 64635015410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘gehtetal HHEl FoRo1 TR T o el faar = 2 ?
(1) AN ol — 30414
(2) THzEEATe At — il
(3) =HRE TiER — Ae®

(4) YA YHL — UHTh
Options:

C4EZE0EQNEYT. 1
C4EZEQE0ET 2. 2
C4EZE08057E. 2
C4E35080574. 4

Question Number : 119 Question 1d : 64635015410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

‘gehtetal HHEl FoRo1 TR T o el faar = 2 ?
(1) SARE oMl — 3941
(9) THTAEATA AHredl — ol
(3) =fhE TiER — e

(4) YA YHL — UHTh
Options:

C4EZE0EQNEYT. 1
C4EZEQE0ET 2. 2
C4EZE08057E. 2
C4E35080574. 4

Question Number : 120 Question 1d : 64635015411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“Ferraa i’ useh! O AT O A 2
(1) ST il

(9) @I W T
(3) Tmfaerg wardl
(4) ST g
Options:

64535060575, 1
E4E53508057E. 2
EAEZS0E0577. 3
EAE35060578. 4

Question Number : 120 Question Id : 64635015411 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘g’ ueRreht T T=ETERR O A 2
(1) A s

(9) . FHE A
(3) TUEfaes warll
(4) ST g
Options:

E4E35060575. 1
BAE35060576. 2
64535060577, 3
E453508057 5. 4



Question Number : 121 Question Id : 64635015412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘aiey T afigarar aerron & qreft 2 | gor et ¥ e @ AW g 2 2
(1) st s

(9) AR 9l
(3) FRds T =
(4) HHARET ST

Options:

64535060579, 1
64535060580, 2
4535080581, 2
645350605582, 4

Question Number : 121 Question Id : 64635015412 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘elies O wAfigarar aearon § qieft 2 | 3o et ¥ =iEar 9 AW w2 ?
(1) e sl
(g) @ErEE w2l
(8) JGaws YW =
(4) AR SR

Options:

64535060579, 1
64535060580, 2
64535060581, =
4835080582 4

Question Number : 122 Question 1d : 64635015413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wradt S’ AW g SreRav T g aereart e 3 8 w2 oo v & am 2
(1) Fred

(9) A
(3) TG
(4) R

Options:

E4E35060583. 1
64535060584, 2
64535060585, 3



EAE3IS060586. 4

Question Number : 122 Question Id : 64635015413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

pradl A’ AW G WIFEAHET g OSRgHT 9rET J Y S92t Seolt FmE 4 AW 2

(9 “EEH
(3) FEHGET
(4) T

Options:

64535080582, 1
EAEZ5060584. 2
E4E35060585. 3
EAE35060586. 4

Question Number : 123 Question Id : 64635015414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘T T ifiq %g e ?

(1) SH =2 i

(2) atfa AT {119 A [

(3) S8 7 dhg 23 e

(4) T A G

Options:

4535060557, 1
64535060588, 2
64535060589, o
64535060590, 4

Question Number : 123 Question Id : 64635015414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘T T ifiq %g e ?

(1) SH =2 i

(2) atfa AT {119 A [

(3) S8 7 dhg 23 e

(4) T A G



Options:

64535060587, 1
E4E3508058E8. 2
4535080589 2
64535060590, 4

Question Number : 124 Question Id : 64635015415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

"GrET HE i) |, "5 e |

A BHEiET a9, xxxx xxxx |

— @i faxam @ dis g 3w fafaaid sifen fFoaa & gus 2 2
(1) WG awE &
(2) mqgmfr
(3) o wEl wgur

(4) < S G

Options:
64535060591 1

E4E35080532. 2
EAE350605393. 3
EAE35060594. 4

Question Number : 124 Question Id : 64635015415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

"Graun HE i) S, HIgE T |

A FEEfEt A, xxxx xxxx |

— @i favam f 4 g 3w fefgaidt saifea froraa & g= 2 2
(1) SERawE
(2) EF;IE‘ZI%“I?&
(3) =Y Tt 9gor &

(4) <0 sSEm G

Options:

64635060591, 1
64535060592, 2
64535060593 =
4835080594 4

Question Number : 125 Question 1d : 64635015416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



it @ # =g ©, g1 o= YW asia’ — 301 F2ad geie oA fRufa feeor wig o g
T " &3 ?

(1) S WA

(g) AU e gaor &
(8) T W wgw A

(4) TR T agm q

Options:
45350605495 1

EAEZ50805396. 2
E4E35060537. 3
E4E535060538. 4

Question Number : 125 Question Id : 64635015416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“Fit @ # =g ©, 51 a9 qf| a5 — 301 FEEd gee e feufa e wia o g
T Heha ed ?

(1) e 9gm A

(9) AU frwan gaor
(3) =Y Tl wgur i

(4) =l T ggo q

Options:

64535060595, 1
64535060596, 2
64535060597, 2
4835080598, 4

Question Number : 126 Question Id : 64635015417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RERU A [TIBR $UT 3, 391 A fb et [REpR et 3R Fae
(1) FoesFaR Gt — geans udie T 2003

(9) Toringpam Fafor — arfees R, TEEr 2003
(3) WG AT — Al |07 e kR 2003
(4) G WEHE — AfEe AR, TERE 2003

Options:
64535060599, 1
4835080800, 2

E4EZ50E0E01. 5



EAEZ5060602. 4

Question Number : 126 Question Id : 64635015417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RAERUY A FWHIBR $UI 3, 391 A fbeil QbR et 3R #ae
(1) FodaFaR AFT — geains Tdle TEsn 2003

(o) Frsirgar fafor — onfges 1. gwsr 2003
(3) I9IG aTFRE — gAwew o1 gt gEEr 2008

(4) HA qEAFR — OifEe w@EG, R 2003

Options:

4635060599, 1
4535060600, 2
64535060601, =
64535060602, 4

Question Number : 127 Question 1d : 64635015418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘T2 W i FaEl, =9is FH il AR |
a3 4T H g 1, qraag! 9ier ||

— g0 AET | A A O Sooi wiifeE g 2
(1) T
() awf
(3) derdl
(4) T

Options:

4835060603, 1
4635060604, 2
64535060605, o
64535060606, 4

Question Number : 127 Question Id : 64635015418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘@2 o § FaEl, Hie FHi AW |
T34 | TR &, qraaet afvgr ||

— 307 St ° R A O Sood HifeEt 2 2
(1) TR
(9 awf
(3) dorett
(4) T

Options:

645350606803, 1
64535060604, 2
E4E35080805. 2
E4E35080806. 4

Question Number : 128 Question Id : 64635015419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Erardy’ fopor aeft T o
(1) A
(9) =moT St
() wa A<
(4) i el
Options:

645350606807, 1
64535060608, 2
64535080609, 3
EAEZ5060610. 4

Question Number : 128 Question Id : 64635015419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Gty fopon Acht o e
(1) S Al
(9) =oT St
(8) Ha Aefl
(4) SN el
Options:

E4EZ50E0607. 1
E4BZE0E0E0E. 2



EAE35060603. 3
BAEZ5060810. 4

Question Number : 129 Question Id : 64635015420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TTag gg 2 9ig, WS A JH werst |
— TSRy dreRiia @ 30 A goe ‘are O age@ol’ o e T gw gH 1 gEE
2?

(1) =&Y sem q

(g) ®etSew

(3) == g=AT d
(4) "FEd § g

Options:

64635060611, 1
64535060612, 2
64535060613 =
64535060514, 4

Question Number : 129 Question 1d : 64635015420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘e erd 3 wie, ww & e e
— e dreRiia @ 301 SIS goW are O agwon’ 60 Hid T gw gH O gEE
27

(1) 31 9em q

(2) s Sem

(3) =@ d geAT q

(4) "Fad & g 4

Options:

64635060611, 1
64535060612, 2
64535060613 2
4835080514, 4

Question Number : 130 Question Id : 64635015421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘et i earell °§ i 29 — 301 Al & Odf A9 2
(1) EHFZaﬂUﬁ @t FW Al

(o) ¥tz Fi a Al
(3) W@ {0 A g 32
(4) o gz =@

Options:

4835060615, 1
E4E350E0816. 2
64535060617, o
4535060618, 4

Question Number : 130 Question Id : 64635015421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘FEt T garelt H I 81 — 301 SRl O HE A9 2
(1) méaﬂﬂaﬂ@?mﬁ

(o) ¥z Fi am Al

(3) W@ O A g 3=
(4) Ay §f g qd @

Options:
E4E2E080815. 1

EAEZ50E0E1E. 2
EAEZ506061Y. 3
EAE35060815. 4

Question Number : 131 Question Id : 64635015422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T A gl S, o 9 A WOH S |
a1F &1 qegl, ' 2 e e S9E |
el w2l S=e, o O A SE JH |
a1 HF glaEel, add o838 I = |
— 39T ST & i J 8

(1) i foeam

(9) FH feram

(8) it forar

(4) HHIHS



Options:

645350606819, 1
E4E35080820. 2
E4E35080821. 2
64535060622, 4

Question Number : 131 Question Id : 64635015422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Y AGE0 R AT, Y T A W A |
&9 &A1 SAHEl, W2 e e 9E |
il wel St=An, o |iE A 9 99 |
&1 HHE GlMel, a@d 38 =1 [ |

— 31 At f e | 3
(1) < foeara
(9) A feram
(g) e ferams
(4) HHIHS

Options:

64535060619, 1
64535060620, 2
64535060621, 2
E4E3S080822. 4

Question Number : 132 Question Id : 64635015423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Herg foes Tt cirradt 12 2

(1) F
(2) IEg
(8) T
(4) At
Options:

EAE35060623. 1
EAE35060624. 2
BAE35060825. 3
BAEZS06082E. 4

Question Number : 132 Question 1d : 64635015423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ui free ot drdt A2 9
(1) F

(2) *49g
(3) RS
(4) BvR

Options:

4635060623, 1
64535060624, 2
64535060625, 2
E4E3S080626. 4

Question Number : 133 Question Id : 64635015424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘e ubE R T o e 2 ?
(1) TSEAHT 99 FEH, <, STre
(9) EIRH HEYA, SRGT
(3) W @i Felmse, AT
(4) WE FEAH, TSEIH foRmis 3397

Options:

4535060627, 1
64535060628, 2
64535060629, 2
4835080820, 4

Question Number : 133 Question Id : 64635015424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘e ubE R T o e 2 ?
(1) TSEAHT 99 FEH, <, STre
(9) EIRH HEYA, SRGT
(3) W @i Felmse, AT
(4) ATfEe TUH, TeRIH foemis 3gaqe

Options:

64535060627, 1
64535060628, 2
64535060629, 2
E4E35080820. 4



Question Number : 134 Question Id : 64635015425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Sreelt forgt ¥ =nd ert-ger & ooy R e g 2
(1) SEIt
(2) ST
(3) SaITW
(4) SRR

Options:
4535060631, 1

EABE3S0E0E3Z. 2
EAE35060E33. 3
BAE35060634. 4

Question Number : 134 Question Id : 64635015425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Sreelt forgt ¥ =nd ert-ger & ooy R e g 2
(1) SEIt
(2) ST
(3) SaITW
(4) SRR

Options:
4535060631, 1

EAEZS0E0E3Z. 2
EAE35060E33. 3
BAE35060634. 4

Question Number : 135 Question Id : 64635015426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“arem e’ Fort sfr & o 3o B 2
(1) TSI AR
(2) SRR
(3) TR
(4) et

Options:
64535060635, 1
E4E3508083E. 2

E4EZE0E0ESY. 3



EAE3S0E0E3E. 4

Question Number : 135 Question Id : 64635015426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘rer e’ foreft sfa & <R g 2 2
(1) TSAT TER
(2) SUMI
(8) T
(4) e ferm

Options:

64535060635, 1
64535060636, 2
E4E35080837. 2
E4E3508082E. 4

Question Number : 136 Question Id : 64635015427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i feregren fompear | o fo oo “aq amr 402 ?

(1) HEITH,W
(9) WIEE, T
(3) A, Ut
(4) T, HET
Options:

E4E35060639. 1
EAE35060640. 2
EAE35060641. 3
GAE35060684%, 4

Question Number : 136 Question 1d : 64635015427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A1 feredtgn famroar | | fore faepe ‘aq amr 4 2 ?

(1) Hﬂm,ﬁlﬂﬂ
(2) WG, Ham
(8) A,
(4) TR, W
Options:

64535060639, 1
E4535080640. 2



EAE3506064]1. 3
BAE35060684%, 4

Question Number : 137 Question Id : 64635015428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘galleell’ T AW o se=El e 2
(1) ToaEmor o fee
(2) TOEHR  fRe

(3) SASHL arg A feRelt
(4) 6 Feerg A fereft

Options:

64635060643, 1
4835080544, 2
4535060645, 5
4535060646, 4

Question Number : 137 Question Id : 64635015428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘galleell’ ¥ AW o Sl i 2
(1) ToEmon & feei
(2) TORHR & el

(3) HASHT arTe o feRelt
(4) A6 F=erg A freft

Options:

64535060643, 1
64535060644, 2
E4E35080845 2
E4E35080846E. 4

Question Number : 138 Question Id : 64635015429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

hlel T Taed e §f S A 2 1
(1) @wwiE § gach
(2) rafaea s
(8) Ut wEwr & walt
(4) <ot gur & saft

Options:



EAE35060647. 1
E4E35060648. 2
G4E35060645, 3
64535060650, 4

Question Number : 138 Question Id : 64635015429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FE TSEAFT T Fel 3§ e AW g |
(1) HiaHbe T ga<lt
(2) DA =

(3) HHt wErHt f sad
(4) <ot gar & salt

Options:

E4E35060E547. 1
64535060648, 2
64535060649, o
64535060650, 4

Question Number : 139 Question Id : 64635015430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A ferediigr Al # g ‘Fo1d’ w fon & wd foewew

(1) 98, T
(9) ¥, o
(3) TG, qURT
(4) HOT, HeH
Options:

E4E35060651. 1
EAE35060652. 2
EAE35060853. 3
64535060654, 4

Question Number : 139 Question 1d : 64635015430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e feregier Am 8 g ‘Fe1§ u fon & wd fame & |

(1) g, Fe
(2) e, daa

(8) TGS, qURE
(4) &HOm, Hed

Options:

4835060651, 1
E4E35080852. 2
64535060652, o
4535060654, 4

Question Number : 140 Question Id : 64635015431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gaTad TeFT | AR fererer Siigr § g e S wd 2 ?
(1) 9696 —5T9G
(2) Hedg —TERG
(3) TG — Mg
(4) TERG — =UEEg

Options:

64835060655, 1
E4E3508085E. 2
64535060657, o
4535060658, 4

Question Number : 140 Question Id : 64635015431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gaTad TeFT | AR fererer Siigr § g e S wd 2 ?
(1) 9696 —5T9G
(2) Hedg —TERG
(3) TG — Mg
(4) TERG — =UEEg

Options:

4835060655, 1
E4E3508085E. 2
64535060657, o
64535060658, 4



Sub-Section Number: 4
Sub-Section 1d: 646350731
Question Shuffling Allowed : Yes

Question Id : 64635015432 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

fadw : A fonsdigr saan 3 =am g ggd w301 o Sfeder gaen o @
farered <ot |

“rrererA & et T g ), W s w i | fea d e, ma A @ | suEry
w9t f Fell |iEl @Y F- 9W HaE 9IEt 3R SPTS-HIS dUId | %
Aot g2 g FE-Nt Aefl A1 A we I FE G P Al HSE FHE
| TrEo § Ad § wewd A W A a9l ft A a s d aardard ' gt
germor #ff @il | o g w4 @3 § St v A )t | e § & @
T SE-ag 1 H R W Y Al - A J Wi |1’ 3gd FEste

i Far aeEe =@ g |
Sub questions

Question Number : 141 Question 1d : 64635015433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5O TS A A S od @, ar @
(1) TeRuH § ot

(2) TRUR T faA
(8) e 1 ®a

(4) TEAH § ua
Options:
64635060659, 1
64535060660, 2
64E35060661. 2
GAERZE0E06E2. 4

Question Number : 142 Question Id : 64635015434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U1 RIS HAel AT 9l 2
(1) T an i
(2) A 9 A §
(3) A&k fa

(4) &AL @



Options:

64535060663, 1
E4E350808E4. 2
E4E350808E5. 2
4535060666, 4

Question Number : 143 Question Id : 64635015435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

301 R T geiE A8 §f ureRd A
(1) el dicdt et
(9) o SHgr |

(3) ¥@ T & T
(4) FoAiE & waw @

Options:

64535060667, 1
E4E350E0BEE. 2
E4E350808E9. 2
64535060670, 4

Question Number : 144 Question Id : 64635015436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

301 TeE ¥ Hote Feitean §f Agiares o wa & a0y 2
(1) dE - WEd |
(9) Fwad fearH

(3) AR - IS H
(4) TG W H
Options:

B4E35060671. 1
4535060672, 2
4535080673, 3
EAEZS0E067 4. 4

Question Number : 145 Question Id : 64635015437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



30T TRIE | R 51 Al haran I swona 2
(1) WEE — e

(2) T@E —HIE
(3) EEHdl — Har
(4) WIEE —HaTE
Options:

EAEZ50E0E7E. 1
EAEZIS0E0E7E. 2
BAEZS0E0EYY. 3
4535060675, 4

Question Id : 64635015432 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label @ Comprehension

fadw : A fonsier saan 4 sam g ged 9w 301 o SfeAE gaen 1 o
farered <ot |

‘et @ et T g &, W s H | @9 § e}, ma A @ sarwary
w1 4l § A Gel @AY 2T 9 G 9EE 30 SIS qUId | #
Ao F2 g F- Al Al A1 A e Iqud FET G P ATl RIS E FHE
| TrEe § A& werd A9 ) qaa a9l ot S0 9 wmror 8§ erdoard @' g
g #ff @il | o g § wal A @13 § st uan A ) | e § & @
T H-9g 1 HL aRN A1 A3 dt S-S AR J Wi a1t 35l faste
ft A seranes ot sd |

Sub questions

Question Number : 141 Question Id : 64635015433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

31 e A T e o e, & 2
(1) TeRUH § o

(g) TsREUA T faq
(3) TR 1 &

(4) TwaH & Ta
Options:
E4B35080659. 1
E4EZ50E0EE0. 2
E4E35060661. =
EAG35060662. 4



Question Number : 142 Question Id : 64635015434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U1 RIS Hotel AT 99l 2

(1) T

(9) A 9 A §

(3) A fa §

(4) EW AL @

Options:

4535060663, 1
4535060664, 2
64535060665, =
4535060666, 4

Question Number : 143 Question 1d : 64635015435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

301 TR T gSiE A i urRd Al
(1) Il fedt wareft =
(9) o Sgr |

(3) W@ T8 T
(4) FoAA  Far @

Options:

4535060667, 1
4535060668, 2
64535060669, =
64535060670, 4

Question Number : 144 Question 1d : 64635015436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

301 TR 1 gt Fasifean @ Agtanes fhu wd /& ?
(1) &0 - WG H
(2) FHB fei |

(3) HHame - e |
(4) SCETY HET H
Options:

E4E35060671. 1
EABZIS0E0EYZ. 2



EAE3IS0E0E7 3. 3
BAEZ506067 4. 4

Question Number : 145 Question Id : 64635015437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
30T TEIE | RT 61 A A O a2
(1) HIEE —GeR
(2) T8 —HAE
(3) TR — T
(4) WA —Hag

Options:

64535060675, 1
4535060676, 2
E4E3S0E0B7Y. 2
E4E3E0E087E. 4

Sub-Section Number: 5
Sub-Section 1d: 646350732
Question Shuffling Allowed : Yes

Question Id : 64635015438 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

fdw : A9 forsdign e @ e| g uedl e 30 Y Sfede g @l U Hd
farehea ol |

‘mifgd § g frmsmd | R Y S g arfza @ Sem | e o 2fa,
feranTfet, i, wafET, 3v1 a6 O Feaom @ifgd 9 23 | Spn g i sed JEd
ft farg onfga | mawft  Aw aror e fFaty & sfiem wifza | sa1 g Sfao
T4 U ure, @ gt anfga § Fea | 301 wror o gl fBgE & ol 2 % wmn b
St Sftaw & wifteatt 391 arfza 2 | wifzes o Stao O 7l s Sl @eey

2, 3u o § < w0k FE |

Sub questions

Question Number : 146 Question Id : 64635015439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



307 e T ¥R 2
(1) SHEoT i e

(9) formauth & sfoem
(3) difed 4 4
(4) Hifed = g4t sfao

Options:

64535060679, 1
E4E35080820. 2
E4E35080881. 2
4535060682, 4

Question Number : 147 Question Id : 64635015440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
391 TRNE T g TifEd O St 21d
(1) e sl g

(9) fEmom g
(3) AWETIH
(4) 3@ STomr g

Options:

64535060683, 1
E4E35080834. 2
E4E35080885. 2
4535060686, 4

Question Number : 148 Question Id : 64635015441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U1 TRNY T gos A1yon fagH dfgd A 9
(1) WTST H fermoi

(2) T H fodom wEon
(3) WINT H Sfigor ¥ To1-21 feremon
(4) WIS H Sfiar i sAfirears

Options:

4835060687, 1
E4E3E0E08EE. 2
45350606589, 5
4535060690, 4



Question Number : 149 Question Id : 64635015442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
3oT ey ¥ gelel |ifEd O 3fazm 2
(1) " T S

(9) WS T AT @igd WHAE T e &
(3) T T SfemE g
(4) 9% 3| Hee q

Options:

64535060691, 1
64535060692, 2
483508083932 2
4535080894, 4

Question Number : 150 Question Id : 64635015443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

501 TN ¥ g et wftaren anfea & A 2
(1) ﬁﬂ@iﬁam{m%aﬁw
() HiiEd & qe forresmn

(3) “eR-zrTel O sfagm onfza
(4) TERIT AT rraor O Feaew e

Options:

64535060695, 1
64535060696, 2
E4E35080897. 2
E4E35080898. 4

Question Id : 64635015438 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

fAger : A forsigr saqmn 4 erm g ged 9 301 o Sjfedrer aaen U ad
farerea ol |

‘mifgd § g frmsmd | g 1 S g arfza @ Sem | e o 2faa,
ferenfet, yfcml, gmfsmy, v oa U oo qifga § &9 | S g art ded aE
ft famrq onfga | mawft ¥ Am aror e fEmty & sfiem miga | sa0 g Sfao 8
T4t U ure, @1 gt anfza @ FeE | 300 FROTOH A1y g @ ol 2 % wmn b
At Siao i wAfiears 39 oifza 2 | @ifge =1 S 4 120 @ arhl g

2, 30 | 6 S wEHl |

Sub questions



Question Number : 146 Question Id : 64635015439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

301 TRy HA w2
(1) SftEor & e
(9) ToEatd gidem
(3) difEa U g
(4) Hiied @t gt sl

Options:

64535060679, 1
E4E35080820. 2
E4E35080881. 2
4535060682, 4

Question Number : 147 Question Id : 64635015440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

391 TRNE T g TifEd O St 21d

(1) o ¥ Sty
(3) T

(4) 3foer o g
Options:

B4E350606883. 1
64535060654, 2
64535080685, 3
EAEZS0E0EEE. 4

Question Number : 148 Question Id : 64635015441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U1 TRNY T gos A1yon fagH dfgd A 9
(1) WTST H fermoi

(2) T H fodom wEon
(3) WINT H Sfigor ¥ To1-21 feremon
(4) WIS H Sfiar i sAfirears

Options:
4835060687, 1
435060658, 2

EAE350E0EE59. 3



EAE35060630. 4

Question Number : 149 Question Id : 64635015442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
guT e  goi arfgd O 3faem 2
(1) HAE T U2 4

(9) WS T AT digd WA T e &
(3) M T SfumE T what
(4) 9% HeE A

Options:

64535060691, 1
64535060692, 2
64535060693, 2
4835080594, 4

Question Number : 150 Question Id : 64635015443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U1 RN ¥ g TRl it difza & AT 2
(1) @ T it g anfga & siam
() HiEa O g fEresmn
(3) er-geTel 4 siqem wifEd
(4) TERIT AT rraor O Feew e

Options:

64535060695, 1
64535060696, 2
64535060697, 2
E4E35080898. 4



